
�¤á¢¬©� ��«��¦¨ ¡é¤ ���¦£â¤à¤��¤�§ ©«�£ �¡âª §�¨��æ©� ª� ¡¦¤¦£ ¡æ ��¤�§ ©«ã£ ¦ ���¤é¤�£ã£� �«�« ©« ¡ãª�â«¨¦ª ��¢¢�§æ¨«�ª�¡«é�¨ ¦ª 1999



�¨æ¢¦�¦ª�¬«æ «¦ «�ç®¦ª â®�  ©¡¦§æ ¤� �¦��ã©�  «¦¬ª ­¦ «�«âª §¦¬ §�¨�¡¦¢¦¬�¦ç¤ «� £��ã£�«á£¦¬. �¦ §�¨ �®æ£�¤æ «¦¬, �­¦¨á ¦¨ ©£â¤�ª £æ¤¦ §«¬®âª «�ª ��à¨å�ª «à¤ ¡�«��¦¨ ¡é¤ ���¦-£â¤à¤, §¦¬ §�¨¦¬© á�¦¤«�  â«©  é©«� ¤� �§¦«�¢¦ç¤ �§¢á â¤� �¦ã��£� ¡�  æ®  ¦¢¦¡¢�¨à£â¤�§�¨¦¬©å�©� «¦¬ �â£�«¦ª. �¢§å�à æ«  ��¤ �� §�¨�¥�����å ¦ ©¡¦§æª «¦¬ ¡�  æ«  ¦  ­¦ «�«âª��¤ �� §�¨ ¦¨ ©«¦ç¤ � � «�¤ ¡�«á¨«�©ã «¦¬ª, ©«�¤ �¤á�¤à©� �¬«¦ç ¡�  £æ¤¦ «¦¬ «�ç®¦¬ª.�â¢à ¤� �¬®�¨ ©«ã©à «¦¬ª ­¦ «�«âª, §¦¬ £� « ª ¡¨å©� ª ¡�  §�¨�«�¨ã©� ª «¦¬ª, £� �¦ã-��©�¤ ¤� �é©à ©«¦ £á��£� �¬«ã «� £¦¨­ã. � � ¡á, ¦  ­¦ «�«âª ��¨å� ��«© ¡��â¢� ¡� � ®á¢�ª � ¤�¨�á¡�ª, � á��©�¤ £��á¢¦ £â¨¦ª «à¤ ¡� £â¤à¤ £�«á «�¤ §¨é«� ��¡«¬¢¦�¨á­�©�¡�  â¡�¤�¤ §¦¢¢âª ®¨ã© £�ª §�¨�«�¨ã©� ª ¡�  ¬§¦��å¥� ª.\�§�ç�¬¤�" � � «�¤ �¨ã�¦¨� ¡�  �§ £�¢�£â¤� ��¡«¬¢¦�¨á­�©� �å¤�  � �æ¢¬ �á¨¨¦¬, «�¤¦§¦å� ¡�  �¬®�¨ ©«é §¦¢ç. �â«¨¦ª ��¢¢�§æ¨«�ª



1 � ©��à�ã 41.1 �ç§¦  ���¦£â¤à¤ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 41.1.1 �®æ¢ � : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 51.2 �¦¤«â¢� / �§�¤á¢�¯� : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 51.3 �¤�­¦¨âª : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 62 � �¡¨ «á ���¦£â¤� 72.1 �������� : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 72.1.1 ���¦£â¤� : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 72.1.2 �å¤�¡�ª ©¬¤�­�å�ª : : : : : : : : : : : : : : : : : : : : : : : : : : : : 82.2 � �¡¨ «âª ¡�«�¤¦£âª : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 92.2.1 ��«�¤¦£ã Bernoulli : : : : : : : : : : : : : : : : : : : : : : : : : : : : 92.2.2 � à¤¬£ ¡ã ¡�«�¤¦£ã : : : : : : : : : : : : : : : : : : : : : : : : : : : 102.2.3 ��¤ ¡�¬£â¤� ¡�«�¤¦£ã Bernoulli : : : : : : : : : : : : : : : : : : : : : 102.2.4 �¦¢¬à¤¬£ ¡ã ¡�«�¤¦£ã : : : : : : : : : : : : : : : : : : : : : : : : : : 102.2.5 ��«�¤¦£ã Poisson : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 112.3 �®ã£�«� �� �£�«¦¢�¯å�ª � � §å¤�¡� I � J : : : : : : : : : : : : : : : : : : : 112.3.1 �¦¢¬à¤¬£ ¡ã �� �£�«¦¢�¯å� : : : : : : : : : : : : : : : : : : : : : : : 112.3.2 �� �£�«¦¢�¯å� £� � ¤æ£�¤¦ §¦¢¬à¤¬£ ¡é¤ : : : : : : : : : : : : : : : 122.3.3 � ¤æ£�¤¦ Poisson : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 122.3.4 �®æ¢ � : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 122.4 �¡« £ã«¨ �ª £��å©«�ª § ��¤¦­á¤� �ª (���) : : : : : : : : : : : : : : : : : : 132.4.1 ��� - �§�¤á¢�¯� : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 132.4.2 ��¨á�� �£�: : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 132.5 Pearson X2 - ©«�« ©« ¡æ : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 142.6 �¢��®¦ª §�¢å¡¦¬ § ��¤¦­�¤� é¤ : : : : : : : : : : : : : : : : : : : : : : : : : 142.6.1 ��¨á�� �£�: Deviance � � §¦¢¬à¤¬£ ¡ã § ��¤¦­á¤� � : : : : : : : : : 162.6.2 ì�¢��®¦ª §�¢å¡¦¬ § ��¤¦­�¤� é¤ � � ���¦£â¤� Poisson : : : : : : : : 162.6.3 �®â©� £�«�¥ç �¢â�®¦¬ §�¢å¡¦¬ § ��¤¦­�¤� é¤ ¡�  Pearson's X2. : : : 172.6.4 ��¨å¢�¯� ©®�£á«à¤ �� �£�«¦¢�¯å�ª : : : : : : : : : : : : : : : : : : 182.6.5 �ç�¡¨ ©� ��¡¢à� ©£â¤à¤ (nested) £¦¤«â¢à¤ £� ®¨ã©� �¢â�®¦¬ §�¢å-¡¦¬ § ��¤¦­�¤� é¤. : : : : : : : : : : : : : : : : : : : : : : : : : : : : 192



2.7 �¦¤«â¢¦ �¤�¥�¨«�©å�ª � � §¦¢¬à¤¬£ ¡ã �� �£�«¦¢�¯å� : : : : : : : : : : : : 203 � à¤¬£ ¡ã ¡�«�¤¦£ã 213.1 � ©��à�ã : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 213.2 �å¤�«¨¦ � � ¢¦� ©« ¡ã §�¢ ¤�¨æ£�©� : : : : : : : : : : : : : : : : : : : : : : 223.3 �¤�§å©�£� � ©��à�ã ©«� ��¤ ¡�¬£â¤� �¨�££ ¡á £¦¤«â¢� : : : : : : : : : : : : 233.3.1 �¬¤�¨«ã©� ª ©¬¤�â©£¦¬ � � �¬à¤¬£ ¡á ���¦£â¤� : : : : : : : : : : : : 243.4 �¨£�¤�å� «à¤ ©¬¤�¨«ã©�à¤ ©¬¤�â©£¦¬ � � � à¤¬£ ¡á ���¦£â¤� : : : : : : : : 253.4.1 �®æ¢ � : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 273.5 �£§� ¨ ¡æª ¢¦� ©« ¡æª £�«�©®�£�« ©£æª : : : : : : : : : : : : : : : : : : : : 273.6 �¬£§�¨�©£�«¦¢¦�å� � � ¢¦� ©« ¡ã §�¢ ¤�¨æ£�©� : : : : : : : : : : : : : : : : 283.7 ��� � � ¢¦� ©« ¡ã §�¢ ¤�¨æ£�©� : : : : : : : : : : : : : : : : : : : : : : : : 283.8 �ç§¦  £¦¤«â¢à¤ ¢¦� ©« ¡ãª §�¢ ¤�¨æ£ ©�ª : : : : : : : : : : : : : : : : : : : 293.9 �¦¤«â¢� ¢¦� ©« ¡ãª §�¢ ¤�¨æ£�©�ª � � §å¤�¡�ª 2� I � J . : : : : : : : : : : 293.10 �®æ¢ � � � «�¤ §¨¦©�¨£¦�ã «à¤ £¦¤«â¢à¤ : : : : : : : : : : : : : : : : : : : 304 ���¦£â¤� Poisson 314.1 �¦¤«â¢¦ �¤�¥�¨«�©å�ª � � §å¤�¡� I � J : : : : : : : : : : : : : : : : : : : : : 314.2 �¦��¨ �£ ¡á �¨�££ ¡á £¦¤«â¢� (log-linear models) : : : : : : : : : : : : : : : 324.3 �®â©� £�«�¥ç £¦¤«â¢à¤ ¢¦� ©« ¡ãª §�¢ ¤�¨æ£�©�ª ¡�  ¢¦��¨ �£ ¡á �¨�££ ¡á£¦¤«â¢�. : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 344.4 �®æ¢ � : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 365 �©¡ã©� ª 375.1 �«�« ©« ¡á §�¡â«� : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 375.2 �©¡ã©� ª : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 375.3 �¨��©å�. : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : : 38



�� «�¢�¬«�å� 80 ®¨æ¤ � � ©«�« ©« ¡ã £��¦�¦¢¦�å� � � «� ¡�«��¦¨ ¡á ���¦£â¤�, â®�  �¤�§«¬-®��å £� �¦¨�¦çª ¨¬�£¦çª ¡�  â®�  ­�á©�  «� �§å§��� §�¨ §¢¦¡æ«�«�ª «�ª £��¦�¦¢¦�å�ª «à¤©¬¤�®é¤ ���¦£â¤à¤. �ç¨ ¦ª ¢æ�¦ª �å¤�  ¦ �¨ã�¦¨¦ª ¨¬�£æª �¤á§«¬¥�ª «à¤ ¡¦ ¤à¤ ¡é¤ ¡� � ¦ä�«¨ ¡é¤ �§ ©«�£é¤, £� ©¬¤�§�¡æ¢¦¬�� «�¤ �¤á�¡� � � �¥�¢ �£â¤�ª £¦¨­âª ©«�« ©« ¡ãª�¤á¢¬©�ª.�« ª ¡¦ ¤à¤ ¡âª �§ ©«ã£�ª, ¦  ¡�«��¦¨ ¡âª £�«¨ã©� ª �å¤�  �§�¨�å«�«�ª � � «�¤ £â«¨�©�§¦©æ«�«�ª ã �¤é£�ª ©� �â£�«� ¡�  ��£¦�¨�­ ¡á ®�¨�¡«�¨ ©« ¡á æ§àª ­ç¢¦, ­¬¢ã, ¡¦ ¤à¤ ¡ã«á¥�. �« ª � ¦ä�«¨ ¡âª �§ ©«ã£�ª, ¬§á¨®�  �¤á�¡� ¤� £�«¨ã©¦¬£� §�¨á�¦¤«�ª æ§àª �¨ £ç«�«��«¬®ã£�«¦ª, ���£æª �¤á¨¨à©�ª �§æ ®� ¨¦¬¨� ¡ã �§â£��©�, ¡�«á©«�©� �§ ��£å�ª.�«�« ©« ¡á £¦¤«â¢� �¤«å©«¦ ®� �¬«é¤ «à¤ ©¬¤�®é¤ ���¦£â¤à¤ (�¤á¢¬©� §�¢ ¤�¨æ£�©�ª,�¤á¢¬©� � �¡ç£�¤©�ª ¡�  ©¬¤� �¡ç£�¤©�ª ¡.¢.§.) â®¦¬¤ �¤�§«¬®��å � � ¡�«��¦¨ ¡âª �§¦¡¨å-©� ª, � � ¤� �¤«�§�¥â¢�¦¬¤ ©«�¤ �¤á�¡� �¤á¢¬©�ª §¦¢¬£�«��¢�«é¤ � �¡¨ «é¤ §�¨�«�¨ã©�à¤.�� �¬«æ «¦ «�ç®¦ª, � � ¡ã â£­�©� �å¤�«�  ©«� £¦¤«â¢� §¦¬ §¨¦â¨®¦¤«�  �§æ «� ��¤ ¡�¬£â¤��¨�££ ¡á £¦¤«â¢� (¢¦��¨ �£ ¡á �¨�££ ¡á £¦¤«â¢�, £¦¤«â¢� � � � à¤¬£ ¡á ���¦£â¤�).�� ¥�¡ ¤ã©¦¬£� �å¤¦¤«�ª «¨å� §�¨���å�£�«� ���¦£â¤à¤, §¦¬ £§¦¨¦ç¤ ¤� �¤�¢¬�¦ç¤ £�« ª «�®¤ ¡âª §¦¬ �� �¤�§«¬®�¦ç¤ §�¨�¡á«à ¡�  �� £�ª ®¨�© £�ç©¦¬¤ ©�¤ �¤�­¦¨âª ©«�¤©¬¤â®� �:1.1 �ç§¦  ���¦£â¤à¤DATASET 1: �æ¤ £� §¦¤«å¡ � �á©�  � «�£å¤�ª �:�æ©� (mg) �¨ �£æª §¦¤« ¡ é¤ �¨ �£æª �æ¤ £à¤3.75 5 05.00 10 26.25 10 47.50 10 810.00 11 1015.00 11 114



DATASET 2: �§¦«â¢�©£� £�«á �§æ �¬«¦¡ ¤�« ©« ¡æ �«ç®�£�:�¨® ¡ã �¨ £ç«�«� �§æ¡¨ ©�«¦¬ �«¬®ã£�«¦ª ��� ����¨ £ç 6 14������� � �â«¨ ¦ 5 0�¢�­¨ç 4 1�¨ £ç 1 6������� � �â«¨ ¦ 3 14�¢�­¨ç 2 4DATASET 3: �§¦«â¢�©£� £�«á �§æ «¨�¬£�« ©£æ ¡�­�¢ ¦ç:���������� ¨æ«�¨¦ ì�� ¦ ��¢ç«�¨¦ �¦¢ç ¡�¢ç«�¨¦ �ç¤¦¢¦� 13 13 12 22 60������� � 4 24 28 34 90C 3 8 15 24 5020 45 55 80 2001.1.1 �®æ¢ �DATASET 1: pi = Pr (§¦¤«å¡  �æ¤ £¦ j �æ©� i )�¨é«�©�: �¦ á �å¤�  � �¤�£�¤æ£�¤� �¦¤ £æ«�«� ©«�¤ �æ©� = d̂;DATASET 2: pij = Pr (�¤á¨¨à©� j �á¨£�¡¦ i ¡�  �¨® ¡ã �¨ £ç«�«� j)�¨é«�©�: �å¤�  � �§æ¡¨ ©� �¤�¥á¨«�«� «¦¬ ­�¨£á¡¦¬ ¡�  /ã �¨® ¡ãª �¨ £ç«�«�ª;DATASET 3: �¤� �­�¨æ£�©«� � � «¦ §¦ æ ­á¨£�¡¦ �å¤�  «�¤ \�â¢« ©«�" �§æ¡¨ ©� - �¢¢á«é¨� � � �¡¨ «ã �§æ¡¨ ©� â®�  4 �§å§���. �¤ � �§æ¡¨ ©� ã«�¤ ©¬¤�®ãª, «æ«� �� £§¦¨¦ç©�£�¤� ®¨�© £¦§¦ ã©¦¬£� �¤á¢¬©� � �©§¦¨áª !1.2 �¦¤«â¢� / �§�¤á¢�¯��«� �¨�££ ¡á £¦¤«â¢� ��à¨ã©�£� «�¤y = z�+ �y � n £¦¤¦� á©«�«�ª �§¦¡¨å©� ªz � n� p §å¤�¡�ª ©«���¨é¤ (design matrix)� � p � l � á¤¬©£� ����������.



�«�¤ �§¢¦ç©«�¨ã «¦¬ª £¦¨­ã, «� ©­á¢£�«� �å¤� :(i) �¤�¥á¨«�«�(ii) «�¬«¦« ¡á ¡�«�¤�£�£â¤� ©�¤ N(0; ©2i )(iii) �¤�¥á¨«�«� «¦¬ i, ��¢��ã ©2i = ©2ì�®¦¬£� « ª §�¨�¡á«à � � ¡âª §�¨ §«é©� ª �¨�££ ¡é¤ £¦¤«â¢à¤:�) �¦¢¢�§¢ã §�¢ ¤�¨æ£�©� - ©¬¤�®�åª £�«��¢�«âª�) �¤á¢¬©� � �©§¦¨áª - §�¨á�¦¤«�ª (factors), � �¡¨ «âª £�«��¢�«âª�) �¤á¢¬©� �¬� �¡ç£�¤©�ª - ©¬¤�®�åª ¡�  � �¡¨ «âª £�«��¢�«âª� §�¨�¡á«à ©«¨�«�� ¡ã � � «�¤ �§ ¢¦�ã ¡�«á¢¢�¢¦¬ £¦¤«â¢¦¬ �� ®¨�© £¦§¦ ���å ¡�  � �«� ¡�«��¦¨ ¡á ���¦£â¤�:�) \�¤��¤à¨ ©« ¡ã " �¤�§å©�£� â¨�¬¤� «à¤ ���¦£â¤à¤ ( exploratory data analysis )B) �¨æ«�©� £¦¤«â¢¦¬�) �¨¦©�¨£¦�ã £¦¤«â¢¦¬�) �¨¦©� ¦¨ ©£æª �§á¨¡� �ª £¦¤«â¢¦¬�) �¨¦©�¨£¦�ã á¢¢à¤ § ��¤é¤ £¦¤«â¢à¤ ¡�  �§ ¢¦�ã \¡�¢ç«�¨¦¬ / ¡�¢ç«�¨à¤"�) \�¨£�¤�å�" ¡�¢ç«�¨¦¬/¡�¢ç«�¨à¤ £¦¤«â¢¦¬ / £¦¤«â¢à¤.�� «¦¤ æ¨¦ \�¨£�¤�å�" �¤¤¦¦ç£�� ��������� �������� ���������� ���������� ������������� �������� ����������������� ��� ����������� ��� ��������1.3 �¤�­¦¨âª- Agresti A, (1990), Categorical Data Analysis, John Wiley and Sons.- McCullagh and Nelder, (1989), Generalised Linear Models, Chapman and Hall.- Dobson A.J. (1983), An introduction to Statistical Modelling, Chapman and Hall.



2.1 ��������2.1.1 ���¦£â¤��§¦¡«¦ç£� ���¦£â¤� �§æ n §� ¨�£�« ¡âª £¦¤á��ª æ§¦¬ ¡á�� £¦¤á�� �å¤�  � á¤¬©£� k« £é¤, ¡�  ¦  « £âª �å¤�  §¨��£�«¦§¦ ã©� ª ( realizations) k «¬®�åà¤ £�«��¢�«é¤ («.£.). �¢¢�ª£�«��¢�«âª £§¦¨¦ç¤ ¤� �¢��®�¦ç¤ �¤é á¢¢�ª �å¤�  �¢�� ¤âª «.£.� � §�¨á�� �£�, ©«¦ DATASET 3 (�§¦«â¢�©£� £�«á �§æ «¨�¬£�« ©£æ ©«¦ ¡�­á¢ ), �¤«� ���¦£â¤� â®¦¬¤ ©¬¢¢�®��å ©«�¤ � á¨¡� � «¦¬ ®¨æ¤¦¬, «æ«� «å§¦«� ��¤ â®�  ©«���¨¦§¦ �-��å �§¦ «�¤ �¨®ã. �¤�¢¢�¡« ¡á, � £�¢â«� �� £§¦¨¦ç©� ¤� ©®�� �©«�å é©«� ¤� ©¬¢¢â¥¦¬£����¦£â¤� �§æ â¤� §¨¦¡��¦¨ ©£â¤¦ �¨ �£æ �©��¤é¤ (§.®. n=200). ��¨ ¡âª ­¦¨âª �§¦­�©å-�¦¬£� ¤� ¡¨�«ã©¦¬£� ©«���¨æ «¦¤ �¨ �£æ «à¤ �¤�¨é§à¤ §¦¬ �¦¡ £á�¦¬¤ ¡á§¦ ¦ ­á¨£�¡¦,��¢. ¤� ¡¨�«ã©¦¬£� ©«���¨æ «¦ á�¨¦ ©£� «à¤ �¨�££é¤ (�¬£��« ¡á, ¦  �¨�££âª �å¤�  ��à�âª,¦  ©«ã¢�ª �å¤�  �§¦¡¨å©� ª). �â«¦ �ª £�¢â«�ª ¡�¢¦ç¤«�  §¨¦©�¦¡é£�¤�ª £�¢â«�ª (Prospectivestudies).�� £§¦¨¦ç©�£� �¤«å §¨¦©�¦¡é£�¤�, ¤� �å®�£� ©®�� á©�  �¤��¨¦£ ¡ã £�¢â«� : ¤� ¡¨�«ã-©¦¬£� ©«���¨æ «¦ á�¨¦ ©£� «à¤ ©«�¢é¤.�  £�«��¢�«âª £§¦¨¦ç¤ ¤� £�«¨��¦ç¤ ©� � á­¦¨�ª ¡¢å£�¡�ª:1. �¬¤�®�åª.2. � �¡¨ «âª : �¬�� ¡âª ã � ®¦«æ£�ª ( §.®. 0/1 ã M/F).3. �¦¢¬¡�«��¦¨ ¡âª.�  §¦¢¬¡�«��¦¨ ¡âª £§¦¨�å ¤� �å¤� :(i) �¤¦£�©« ¡âª (nominal), §.®. ¡æ¡¡ ¤¦, §¨á© ¤¦, £�ç¨¦(ii) ��¡« ¡âª (ordinal), §.®. �¢�­¨çª, £â«¨ ¦ª, �¨ £çª.7



�  � �¡¨ «âª £�«��¢�«âª ¡�¢¦ç¤«�  ©¬¤ã�àª §�¨á�¦¤«�ª (factors). �  �§ «¨�§æ£�¤�ª « -£âª �¤æª §�¨á�¦¤«� ¡�¢¦ç¤«�  �§å§��� (levels), §.®. SEX �å¤�  �¬�� ¡æª §�¨á�¦¤«�ª £� �ç¦�§å§���.2.1.2 �å¤�¡�ª ©¬¤�­�å�ª�å¤�¡�ª ©¬¤�­�å�ª �å¤�  §å¤�¡�ª ©¬®¤¦«ã«à¤: ¦¬© �©« ¡á �¡­¨á�¦¬£� � �­¦¨�« ¡á â¤� §å¤�¡�æ§¦¬ ¦  �¨�££âª �å¤�  §�¨ §«é©� ª ¡�  ¦  ©«ã¢�ª §�¨á�¦¤«�ª.������� ������������ SEX ����� ��������1= MALE 1=������� 1 1=��������2= FEMALE 2=������� 2 2=��������1 1 1 22 1 1 13 2 2 24 1 2 25 1 1 2... ... ... ...n 1 2 1�¡­¨á��«�  ©�¤ ��������SEX A �������� 1 � n111 n211F n112 n212������� 2 � n121 n221F n122 n222��¢��ã «� nijk, æ§¦¬ �������� =i, ����� =j, SEX =k, �¤�§�¨ ©«¦ç¤ «� ���¦£â¤� «¦¬������ �.� � á©«�©� «¦¬ §å¤�¡�  ©¦ç«�  £� «¦¤ �¨ �£æ «à¤ §�¨��æ¤«à¤ §¦¬ ¦¨å�¦¬¤ «¦¤ §å¤�¡�.� � §�¨á�� �£�, «¦ DATASET 2 â®�  � á©«�©� 3, �¤é «¦ DATASET 3 â®�  � á©«�©� 2.�¤ xi �å¤�  §�¨á�¦¤«�ª £� Li �§å§���, i = 1; . . . ; k, «æ«� ¦ �¤«å©«¦ ®¦ª k�� á©«�«¦ª§å¤�¡�ª â®�  kYi=1Li ¡�¢¢ á:§.®. DATASET 3: k = 3; L1 = 2; L2 = 2; L3 = 3) 12 ¡�¢¢ á.



�¤ n �å¤�  ¦ ©¬¤¦¢ ¡æª �¨ �£æª §� ¨�£�« ¡é¤ £¦¤á�à¤ «æ«� �á¤ «¦ k �å¤�  £��á¢¦ ¡�  «¦n ��¤ �å¤�  «æ©¦ £��á¢¦, §¦¢¢á ¡�¢¢ á ©«¦¤ §å¤�¡� §�¨ â®¦¬¤ £���¤ ¡âª ©¬®¤æ«�«�ª, - «â«¦ ¦ §å¤�¡�ª ¡�¢¦ç¤«�  � �©§�¨£â¤¦  (sparse). �«�¤ §¨á¥�, §¦¢ç ©§á¤ � â®¦¬£� k > 5.��¨á�� �£� � � á©«�«¦¬ §å¤�¡� ©¬¤�­�å�ªn11 n12 . . . . . . n1J n1+n21 n22 . . . . . . n2J n2+... ... ... ... ... ...nI1 nI2 . . . . . . nIJ nI+n+1 n+2 . . . . . . n+J n++ = n� ©¬£�¦¢ ©£æª + ©¬£�¦¢å��  á�¨¦ ©£� «¦¬ �¤«å©«¦ ®¦¬ ��å¡«�, §.®.ni+ = JXj=1 nij (���������� �������), n = n++ = IXi=1 JXj=1 nij (����� ������).�� ��¨¦å©£�«� �¨�££é¤ / ©«�¢é¤ ¦¨å�¦¬¤ §å¤�¡�ª � á©«�©�ª 1 (one- way tables) §¦¬¦¤¦£á�¦¤«�  §�¨ �é¨ ¦  ©«¦¤ � � á©«�«¦ §å¤�¡�.� � «¨ ©� á©«�«¦¬ª ¡�  £���¢ç«�¨¦¬ª §å¤�¡�ª :� � §�¨¦¬©å�©� �å¤�  ¬§¦¡� £�¤ ¡æ �â£�� ��¨á�¦¬¤ §�¨ �é¨ ¦¬ª §å¤�¡�ª � á©«�©�ª k�1, æ§¦¬ k � � á©«�©� «¦¬ �¨® ¡¦ç §å¤�¡�.��©£�¬£â¤¦  §å¤�¡�ª �§¦¡«¦ç¤«�  �§æ «¦¤ �¨® ¡æ §å¤�¡� ã �§æ §�¨ �é¨ ¦ §å¤�¡� ¡¨�«é-¤«�ª ©«���¨á � á­¦¨� �§å§��� � �­¦¨�« ¡é¤ §�¨��æ¤«à¤ - £§¦¨�å«� ¤� «¦¬ª ©¡�­��å«� ©�¤\­â«�ª" «¦¬ �¨® ¡¦ç §å¤�¡�!2.2 � �¡¨ «âª ¡�«�¤¦£âª2.2.1 ��«�¤¦£ã Bernoulli� � �å¤�  «.£. Bernoulli �á¤ ¡�  £æ¤¦ �á¤Pr(X = x) = 8><>: 1 � p �¤ x = 0p �¤ x = 10 �¢¢ éª



2.2.2 � à¤¬£ ¡ã ¡�«�¤¦£ãì�©«à X £ � «.£ §¦¬ §�¨ �¨á­�  «¦¤ �¨ �£æ «à¤ \1" §¦¬ �§¦¡«¦ç¤«�  ©� n �¤�¥á¨«�«�ª�¦¡ £âª Bernoulli. �æ«�Pr(X = x) =  nx ! px(1� p)n�x; x = 0; . . . ; n�¨á­¦¬£� X � B(n; p).2.2.3 ��¤ ¡�¬£â¤� ¡�«�¤¦£ã Bernoulliì�©«à X â¤�ª §�¨á�¦¤«�ª §¦¬ §�å¨¤�  k � �¡�¡¨ £â¤�ª « £âª £� § ��¤æ«�«�ª p1; p2; . . . ; pk,æ§¦¬ kXi=1pi = 1: ì�©«à T £ � � �¤¬©£�« ¡ã «.£. (k � 1) £� �� �£�« ¡æ ®é¨¦8>>>><>>>>:266664 10...0 377775 ;266664 01...0 377775 ; . . . ; 266664 00...1 3777759>>>>=>>>>;æ§¦¬ Pr 0BBBB@T = 266664 10...0 3777751CCCCA = p1 ¡:¢:§:�æ«� � T â®�  ��¤ ¡�¬£â¤� ¡�«�¤¦£ã Bernoulli.2.2.4 �¦¢¬à¤¬£ ¡ã ¡�«�¤¦£ãì�©«à Ti; i = 1; . . . ; n, n �¤�¥á¨«�«�ª §¨��£�«¦§¦ ã©� ª £ �ª ��¤ ¡�¬£â¤�ª «.£.Bernoulli.ì�©«à N = nXi=1Ti: �æ«�Pr(N = n) = Pr(N1 = n1; N2 = n2; . . . ; Nk = nk) = n!n1!n2! . . .nk!pn11 pn22 . . .pnkk��£� é©� ª(i) �¨á­¦¬£� N �Mk(n;p)(ii) �¦¢¬� á©«�«� ¡�«�¤¦£ã(iii) kXi=1pi = 1, á¨� ¬§á¨®¦¬¤ k�1 � �¡�¡¨ £â¤�ª §�¨á£�«¨¦ , ¡�  â®¦¬£� £å� (k�1)-� á©«�«�§�¨�£�«¨ ¡ã ¡�«�¤¦£ã.



2.2.5 ��«�¤¦£ã PoissonH «.£. � â®�  ¡�«�¤¦£ã Poisson �á¤Pr(N = n) = e�mmnn! ; n = 0; 1; 2; . . .��£� é©� ª:(i) �¨á­¦¬£� N � p(m): E[N ] = m; V [N ] = m(ii) �¬£���å«� «�¤ �¤â¢ ¥� Poisson £� â¤«�©� ¢. �«¦ � á©«�£� (0; t) ¦ �¨ �£æª «à¤ ���¦-¤æ«à¤ â®�  ¡�«�¤¦£ã Poisson £� m = ¢t.(iii) ì�©«à k �¤�¥á¨«�«�ª �¤�¢å¥� ª Poisson, £� �¤«á©� ª ¢1; ¢2; . . . ; ¢k: ì�©«à Ni ¦ �¨ �£æª«à¤ ���¦¤æ«à¤ §¦¬ §�¨�«�¨�å«�  �§æ «�¤ i�¦©«ã �¤â¢ ¥� ©� ®¨æ¤¦ t. �æ«�Pr(N1 = n1; N2 = n2; . . . ; Nk = nk) = kYi=1 e�mimniini!æ§¦¬ mi = ¢it. � � §¦¢¬� á©«�«� ¡�«�¤¦£ã §¦¬ �¡­¨á��«�  ©�¤ � ¤æ£�¤¦ £¦¤¦� á©«�-«à¤ ¡�«�¤¦£é¤.(iv) �¤ Ni � p(mi); i = 1; . . . ; k; ¡�  Ni �¤�¥á¨«�«�ª, «æ«�kXi=1Ni � p( kXi=1mi) :2.3 �®ã£�«� �� �£�«¦¢�¯å�ª � � §å¤�¡� I � J�«�¤ �å¤�«�  â¤� ©ç¤¦¢¦ ���¦£â¤à¤, �å¤�  §¦¢ç ©�£�¤« ¡æ ¤� ¥â¨¦¬£� «¦¤ «¨æ§¦ £� «¦¤¦§¦å¦ «� ���¦£â¤� â®¦¬¤ ©¬¢¢�®��å: ¤� ¥â¨¦¬£� ��¢��ã «¦ ©®ã£� �� �£�«¦¢�¯å�ª. �� �¤�-­�¨�¦ç£� ©� ¡á�� â¤� § ��¤æ ©®ã£� ©«¦ DATASET 3:2.3.1 �¦¢¬à¤¬£ ¡ã �� �£�«¦¢�¯å��¤ ¡¨�«ã©¦¬£� ©«���¨æ «¦ ¦¢ ¡æ ©ç¤¦¢¦, «à¤ §� ¨�£�« ¡é¤ £¦¤á�à¤ �¡ «à¤ §¨¦«â¨à¤, «æ«�â®¦¬£� £ � §¦¢¬à¤¬£ ¡ã ¡�«�¤¦£ã � � « ª §¨¦¡ç§«¦¬©�ª §�¨�«�¨ã©� ª:Pr(N = n j p) = n++!n1! . . .nIJ ! IYi=1 JYj=1 pnijij �MIJ(n++;p); Xi Xj pij = 1:§.®. ©«¦ DATASET 3 �§¦­�©å©�£� ¤� ©¬¢¢â¥¦¬£� ���¦£â¤� �§¦ 200 �©��¤�åª.



2.3.2 �� �£�«¦¢�¯å� £� � ¤æ£�¤¦ §¦¢¬à¤¬£ ¡é¤�¤�¢¢�¡« ¡á, â©«à æ«  �§¦­�©å�¦¬£� ¤� ©¬¢¢â¥¦¬£� � � ¡á�� �¨�££ã â¤� §¨¦¡��¦¨ ©£â¤¦�¨ �£æ ���¦£â¤à¤. �æ«� � � ¡á�� �¨�££ã â®¦¬£� â¤� � �­¦¨�« ¡æ §¦¢¬à¤¬£ ¡æ §�å¨�£�:Pr  N = n j p = IYi=1MJ(ni+; pi!£� (J � 1)I §�¨�£â«¨¦¬ª, pi = (pi1; pi2; . . . ; piJ ) ¡�  JXj=1pij = 1:�¦ ©ç¤¦¢¦ ¡á�� �¨�££ãª �å¤�  §¨¦¡��¦¨ ©£â¤¦ �§æ «¦¤ §� ¨�£�« ¡æ ©®�� �©£æ. � �§�¨á�� �£�, ©«¦ DATASET 3, �§¦­�©å�¦¬£� ¤� ©¬¢¢â¥¦¬£� ���¦£â¤� ©� §¨¦¡��¦¨ ©£â¤¦�¨ �£æ � � «¦ ­á¨£�¡¦ �, � � «¦ ­á¨£�¡¦ � ¡�  «¦ ­á¨£�¡¦ C. �«�¤ ©¬¢¢â¥¦¬£� �¨¡�«á� � «¦ �, «æ«� �§¢éª §�¨ £â¤¦¬£� � � � ¡�  C, ��¢. �§¦¨¨å§«¦¬£� «� � �§æ �¡�å¤¦ «¦ ©�£�å¦¡�  £�«á. �¬«æ ©�£�å¤�  æ«  ��¤ £§¦¨¦ç¤ ¤� �¥�®�¦ç¤ ©¬£§�¨á©£�«� � � «� ©ç¤¦¢� ©� ¡á���¨�££ã (��¢. ��¤ £§¦¨¦ç£� ¤� �¨¦ç£� «�¤ § ��¤æ«�«� ¤� â®�  �¦��å «¦ ­á¨£�¡¦ �). �¦DATASET 1 £§¦¨�å ¤� �å¤�  � ¤æ£�¤¦ � à¤¬£ ¡é¤ - � � ¡ã §�¨å§«à©�. �¨¦­�¤éª, £§¦¨¦ç£�¤� ©¬¢¢â¥¦¬£� ���¦£â¤� ¡¨�«é¤«�ª «¦ ©ç¤¦¢¦ ¡á�� ©«ã¢�ª ©«���¨æ.2.3.3 � ¤æ£�¤¦ Poisson�¬¢¢â�¦¬£� ���¦£â¤� � � §¨¦¡��¦¨ ©£â¤¦ ®¨¦¤ ¡æ � á©«�£�. ��é, «¦ ©¬¤¦¢ ¡æ á�¨¦ ©£�n++ �å¤�  �§å©�ª «¬®�å¦. �¬¤�§éª â®¦¬£� IJ §�¨�£â«¨¦¬ª ¡�   ©®ç� Pr(N = n jm) = IYi=1 JYj=1 e�mijmnijijnij !��¢��ã ©� ¡á�� ¡�¢¢å â®¦¬£� ¡�«�¤¦£ã Poisson £� £â©¦ mij.2.3.4 �®æ¢ �- �¢� «� £¦¤«â¢� ��¤ ¡�ç¦¤«�  ©� §å¤�¡�ª £���¢ç«�¨�ª � á©«�©�ª.- �«�¤ ¥â¨¦¬£� «¦  ©«¦¨ ¡æ «¦¬ §� ¨á£�«¦ª, £§¦¨¦ç£� ¤� �¨á¯¦¬£� «�¤ § ��¤¦­á¤� � «à¤���¦£â¤à¤. �§àª £� «� �¨�££ ¡á £¦¤«â¢� £� ¡�¤¦¤ ¡á ©­á¢£�«�, �¡¦¢¦¬�¦ç£� £ �� �� ¡�©å� §¨¦©�¨£¦�ãª £¦¤«â¢¦¬ §¦¬ (�¢§å�¦¬£� !) �� £�ª �§�¤«ã©�  ©« ª �¨à«ã©� ª§¦¬ £�ª �¤� �­â¨¦¬¤. � � §�¨á�� �£�, ©� â¤� §å¤�¡� ©¬¤�­�å�ª I � J £ � �§æ « ª§ ¦ ©§¦¬��å�ª �¨à«ã©� ª �å¤� : \�å¤�  � �§æ¡¨ ©� �¤�¥á¨«�«� «�ª ��à�ãª;" � \�å¤�  �¡�«��¦¨ ¦§¦å�©� «à¤ �¨�££é¤ �¤�¥á¨«�«� «�ª ¡�«��¦¨ ¦§¦å�©�ª «à¤ ©«�¢é¤;"- �§¦ ¦�ã§¦«� £¦¤«â¢¦ ¡�  ¤� §¨¦©�¨£æ©¦¬£�, ¦¬© �©« ¡á �¡­¨á�¦¬£� «�¤ �¦£ã «à¤ ��-�¦£â¤à¤ £â©à �¤æª �¨ �£¦ç §�¨�£â«¨à¤. �©¦ § ¦ §�¨å§¢¦¡� �å¤� , «æ©¦ §�¨ ©©æ«�¨�ª§�¨�£â«¨¦¬ª â®¦¬£� ¡�  �¤«å��«�. �¦ § ¦ §�¨å§¢¦¡¦ £¦¤«â¢¦ §¦¬ £§¦¨¦ç£� ¤� §¨¦©�¨-£æ©¦¬£� â®�  «¦¤ å� ¦ �¨ �£æ §�¨�£â«¨à¤ £� « ª �¤�¥á¨«�«�ª £¦¤á��ª ���¦£â¤à¤ : «¦¦¤¦£á�¦¬£� ¡¦¨�©£â¤¦ £¦¤«â¢¦.



- �«¨â­¦¬£� «é¨� «�¤ §¨¦©¦®ã £�ª ©«�¤ �¡«å£�©� §�¨�£â«¨à¤. �æ¢ ª �¡« £ã©¦¬£� « ª§�¨�£â«¨¦¬ª, §¨â§�  ¤� �¡« £ã©¦¬£� «�¤ �§á¨¡� � «¦¬ £¦¤«â¢¦¬.2.4 �¡« £ã«¨ �ª £��å©«�ª § ��¤¦­á¤� �ª (���)2.4.1 ��� - �§�¤á¢�¯�ì�©«à L(X j �) � ©¬¤á¨«�©� § ��¤¦­á¤� �ª, æ§¦¬ £� X ©¬£�¦¢å�¦¬£� «� ���¦£â¤� ¡� £� � = (�1; . . . ;�p) «¦ � á¤¬©£� «à¤ §�¨�£â«¨à¤. �¤ � L(X j �) �§¦¡«á ¦¢ ¡æ £â� ©«¦©«¦ � = �̂ «æ«� �̂ �å¤�  � ��� «¦¬ � ¡�  L(X j �̂) �å¤�  � £�� ©«¦§¦ �£â¤� § ��¤¦­á¤� �.��£� é©«� æ«  �̂ £�� ©«¦§¦ �å �§å©�ª «�¤ log L(X j �). �  ��� â®¦¬¤ �¤ �â¤�  (æ®  £æ¤¦� � ¡�¤¦¤ ¡âª § ��¤¦­á¤� �ª) �§ �¬£�«âª  � æ«�«�ª:(i) �¬¤â§� � (limn!1 p(j Tn �� j� �) = 0 8� > 0)(ii) �©¬£§«¦« ¡á ¡�¤¦¤ ¡ã (�̂ � M _ np(�; I(�)�1), æ§¦¬ ¦ I(�) â®�  ©«¦ ®�å¦ (jk) =�E[ �2 logL��j��k ].(iii) �©¬£§«¦« ¡á �§�¨¡ãª2.4.2 ��¨á�� �£�:�  ��� � � « ª §�¨�£â«¨¦¬ª «�ª §¦¢¬à¤¬£ ¡ãª ¡�«�¤¦£ãª â®¦¬¤ \ � �å«�¨�" §¨¦�¢ã£�«� :ì�©«à N �Mk(n;p), ¡�  §�¨�«�¨¦ç£� N = y.�â¢¦¬£� ¤� �¨¦ç£� «�¤ ��� p̂.� ��¤¦­á¤� � = n!kYi=1ni! kYi=1 pnii / kYi=1 pnii (�)� (*) �§ «¬�®á¤�  £â� ©«¦ � � p1 = p2 = � � � = pk = 1, �¢¢á �¬«æ ��¤  ©®ç�  � �«å §¨â§� kXi=1pi = 1 �0. �§� �ã â®¦¬£� «¦¤ §�¨ ¦¨ ©£æ kXi=1 pi = 1, ®¨�© £¦§¦ ¦ç£� «¦¬ª §¦¢¢�§¢�© �©«âªLagrance, ��¢��ã £�� ©«¦§¦ ¦ç£� «�¤ ©¬¤á¨«�©�kXi=1 ni log pi| {z }log�� ��¤¦­á¤� � � ¢|{z}�¦¢=©«ãªLagrance  kXi=1 pi � 1!| {z }§�¨ ¦¨ ©£æª��¨��à�å�¦¤«�ª àª §¨¦ª pi; i = 1; 2; . . . ; k ¡�  �¥ ©é¤¦¤«�ª £� «¦ £��â¤ â®¦¬£� ddpi =0 ) ni=p̂i � ¢ = 0: �� á�¨¦ ©£� æ¢à¤ «à¤ i â®¦¬£� Pni = ¢(P p̂i) = ¢ ) ¢ = n ) p̂i =



nin ; i = 1; 2; . . . ; k, ¡�  � £�� ©«¦§¦ �£â¤� § ��¤¦­á¤� � �å¤�«�  �§æ «�¤ ©®â©�n!kYi=1ni! kYi=1�nin �niì�¨� ©� �¬«ã «�¤ §�¨å§«à©� â®¦¬£� ¬§¦¢¦�å©�  « ª ��� «¦¬ ¡¦¨�©£â¤¦¬ £¦¤«â ¢¦¬, ��¢��ã¦  §¨¦©�¨£¦©£â¤�ª « £âª �å¤¦¤«�  �§æ npi = ni = ¦  §�¨�«�¨¦ç£�¤�ª « £âª.�¬«æ «¦ £¦¤«â¢¦ �å¤�  ¢å��ª/¡��æ¢¦¬ �¥å�ª ©«�¤ §¨á¥�, � �«å ��¤ \�§¢¦¬©«�ç� " ¡��æ¢¦¬«� �¨® ¡á ���¦£â¤�.�¤ �â¤� , �� â®¦¬£�: p = ¯(�);æ§¦¬ dim(�) = r < k � 1.�¨�æ«�¨� �� �¦ç£� £¦¤«â¢� §¦¬ ��¤ â®¦¬¤ �¤�¢¬« ¡ã ¢ç©� �¢¢á £§¦¨¦ç¤ ¤� ¢¬�¦ç¤�¨ �£�« ¡á (£â©à §.®. ¡á§¦ ¦¬ ©«�« ©« ¡¦ç §�¡â«¦¬).�é¨� �� �¥�«á©¦¬£� «�¤ §¨¦©�¨£¦�ã «¦¬ £¦¤«â¢¦¬.2.5 Pearson X2 - ©«�« ©« ¡æ�¦ Pearson X2 ©«�« ©« ¡æ �å¤�  ®¨ã© £¦ � � ¤� £�«¨ã©¦¬£� «�¤ §¨¦©�¨£¦�ã �¤æª £¦-¤«â¢¦¬ ©¬�¡¨ ¤æ£�¤¦¬ £� «¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦.������� : X2 = kXi=1 (ni � m̂i)2m̂i ;æ§¦¬ ni = §�¨�«�¨¦ç£�¤� ©¬®¤æ«�«� (§¦¬ �¤« ©«¦ ®�å ©«¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦)m̂i = §¨¦©�¨£¦©£â¤� ©¬®¤æ«�«�.ì�©«à �0: £� à£â¤¦ £¦¤«â¢¦H1: ¡¦¨�©£â¤¦ £¦¤«â¢¦ì�©«à s+ t = �¨ �£æª §�¨�£â«¨à¤ ©«¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦¡�  s = �¨ �£æª §�¨�£â«¨à¤ ©«¦ £� à£â¤¦ £¦¤«â¢¦�¤ � H0 �å¤�  �¢��ãª, «æ«� (�©¬£§«à« ¡á)X2 � X 2t2.6 �¢��®¦ª §�¢å¡¦¬ § ��¤¦­�¤� é¤ì�©«à æ«  �¤� �­�¨æ£�©«� ¤� �¡« £ã©¦¬£� «�¤ �§á¨¡� � �¤æª £¦¤«â¢¦¬ §¦¬ §�¨ �¨á­� â¤� ©ç¤¦¢¦ ���¦£â¤à¤. �¬«æ £§¦¨�å ¤� �å¤�  ©¬�¡¨å¤¦¤«�ª «�¤ § ��¤¦­á¤� � §¦¬ §¨¦¡ç§«� �§¦ «¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦, ��¢��ã «¦ £¦¤«â¢¦ §¦¬ â®�  �¨ �£æ §�¨�£â«¨à¤ å©¦ £� �¨ �£æ���¦£â¤à¤ (á¨� ¦  §¨¦©�¨£¦©£â¤�ª « £âª �å¤�  å©�ª £� « ª §�¨�«�¨¦ç£�¤�ª « £âª).



ì�©«à �̂S � ��� «à¤ §�¨�£â«¨à¤ ©«¦ ¡¦¨�©£â¤¦ (Saturated) £¦¤«â¢¦ ¡�  �̂R � ���«à¤ §�¨�£â«¨à¤ ©«¦ £� à£â¤¦ (Reduced) £¦¤«â¢¦. �§å©�ª, â©«à L(�̂S) ¡�  L(�̂R) ¦  £�-� ©«¦§¦ �£â¤�ª § ��¤¦­á¤� �ª �¤«å©«¦ ®�. �¤ «¦ £¦¤«â¢¦ §�¨â®�  ¡�¢ã §¨¦©�¨£¦�ã ©«¦£¦¤«â¢¦, �� §�¨ £â¤�£� � L(�̂R) ¤� �å¤�  §�¨å§¦¬ «æ©¦ £��á¢� æ©¦ � L(�̂S).ì�©«à H0 : �� à£â¤¦ £¦¤«â¢¦ H1 : �¦¨�©£â¤¦ £¦¤«â¢¦�  §�¨�§á¤à ¬§¦�â©� ª �¢â�®¦¤«�  ¦¨å�¦¤«�ª «¦ ©«�« ©« ¡æ §�¢å¡¦ § ��¤¦­�¤� é¤:
 = L(�̂R)L(�̂S)� £âª «¦¬ 
 ¡¦¤«á ©«¦ 1 ¬§¦��¢é¤¦¬¤ æ«  � H0 £§¦¨�å ¤� §�¨â®�  ¡�¢ã §�¨ �¨�­ã «à¤���¦£â¤à¤, �¤é « £âª «¦¬ 
 ¡¦¤«á ©«¦ 0 ¬§¦��¢é¤¦¬¤ ©�£�¤« ¡ã â¢¢� ¯� §¨¦©�¨£¦�ãª ¡�«á«�¤ £�«�¡å¤�©� �§æ «¦ ¡¦¨�©£â¤¦ ©«¦ £� à£â¤¦ £¦¤«â¢¦.� � ¤� �¢â�¥¦¬£� « ª ¬§¦�â©� ª §¨â§�  ¤� �¤à¨å�¦¬£� «�¤ ¡�«�¤¦£ã «¦¬ 
 æ«�¤ � H0 �å¤� �¢��ãª.�������: �¨å�¦¬£� «�¤ Deviance ©�¤Deviance = D = �2 log 
:�©¬£§«à« ¡á, æ«�¤ � H0 �å¤�  �¢��ãª, � Deviance â®�  ¡�«�¤¦£ã X 2n�p, æ§¦¬ n �å¤� ¦ �¨ �£æª «à¤ §�¨�«�¨ã©�à¤ ¡�  p ¦ �¨ �£æª «à¤ §�¨�£â«¨à¤ §¦¬ ¦¨å�¦¤«�  �§æ «�¤ H0.��£� é©«� æ«  D = �2 log  L(�̂R)L(�̂S)! = 2(log L(�̂S)� 2 log L(�̂R))�¦ §�¨�§á¤à �§¦«â¢�©£�  ©®ç�  ����������� � � §¦¢¬à¤¬£ ¡ã, Poisson, Gamma¡.¢.§.ì�¨� â®¦¬£� £å� ©«¨�«�� ¡ã � � §¨¦©�¨£¦�ã £¦¤«â¢à¤ :1. �¨¦«�å¤¦¬£� â¤� £¦¤«â¢¦2. �¡« £¦ç£� §�¨�£â«¨¦¬ª «¦¬ £¦¤«â¢¦¬ £� ���3. �¢â�®¦¬£� «�¤ �§á¨¡� � «¦¬ £¦¤«â¢¦¬ £� «� �¦ã�� � «�ª Deviance.



2.6.1 ��¨á�� �£�: Deviance � � §¦¢¬à¤¬£ ¡ã § ��¤¦­á¤� �N �Mk(n+;p), §�¨�«�¨¦ç£� N = n. ì�©«à ¦«  §¨¦«�å¤�«�  £¦¤«â¢¦ £� r(< k � 1) §�¨�£â-«¨¦¬ª � � «� ©«¦ ®�å� «¦¬ p. �¨á­¦¬£� p = ¯(­), £� dim(­) = r. (§.®. k = 4; p1 = p2 =�1; p3 = �2. �� �¬«ã «�¤ §�¨å§«à©� � � «¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦ â®¦¬£� k�1 = 3 §�¨�£â«¨¦¬ª¡�  � � «¦ £� à£â¤¦ £¦¤«â¢¦ â®¦¬£� 2 §�¨�£â«¨¦¬ª).� � ¤� �¦ç£� �á¤ «¦ £� à£â¤¦ £¦¤«â¢¦ �å¤�   ©®ç¦¬©� �§¢¦§¦å�©� §¨â§�  ¤� ¬§¦¢¦�å©¦¬£�«¦ ©«�« ©« ¡æ �¢â�®¦¬ D = �2 log 
, æ§¦¬
 = max­ n+!�ni ! kYi=1¯i(­̂)nimax­ n+ !�ni! kYi=1p̂niiì�®¦¬£� ã�� �¥�«á©�  «¦¤ §�¨�¤¦£�©«ã ©«¦ §�¨á�� �£� 3.4.2 (��¢. p̂i = nin+ ). ì�®¦¬£� ¦« �2 log 
 = �2 kXi=1 ni log ¯i(­̂) + 2 kXi=1 ni log p̂i == �2 kXi=1 ni log  ¯i(­̂i)p̂i ! == 2 kXi=1 ni log nin+¯i(�̂)!�¤ ©¬£�¦¢å©¦¬£� m̂i = n+¯i(�̂) «�¤ i�¦©«ã §¨¦©�¨£¦©£â¤� « £ã ¡á«à �§æ «¦ £� à£â¤¦£¦¤«â¢¦ «æ«� Deviance = D = 2 kXi=1 ni log� nim̂i��¬¤�§éª, � � â¤� §¦¢¬à¤¬£ ¡æ ©â« ���¦£â¤à¤, �§¦¡«¦ç£� « ª §¨¦©�¨£¦©£â¤�ª « £âª (m̂i)£� �á©� «�¤ ¬§æ��©� «¦¬ £� à£â¤¦¬ £¦¤«â¢¦¬, ¡�  £�«á ¬§¦¢¦�å�¦¬£� «�¤ Deviance æ§àª§�¨ �¨á­�«�  §�¨�§á¤à.�¬�¡¨å¤¦¬£� «�¤ « £ã §¦¬ �§¦¡«¦ç£� £� «�¤ ¡�«�¤¦£ã X 2k�1�r. �¤ � Deviance �å¤�  £�-�á¢�, «æ«� (§¨æª «¦ §�¨æ¤ !) �§¦¨¨å§«¦¬£� «�¤ H0 ¡�  ©¬£§�¨�å¤¦¬£� æ«  (å©àª) «¦ £� à£â¤¦£¦¤«â¢¦ ��¤ �å¤�   ©®ç¦¬©� §�¨å¢�¯� «à¤ ���¦£â¤à¤.��������: �� §�¨�§á¤à �å¤�  £æ¤¦ ¦���å�ª - §¨¦©¦®ã ©«� £ ¡¨á ©�« ���¦£â¤à¤ !2.6.2 ì�¢��®¦ª §�¢å¡¦¬ § ��¤¦­�¤� é¤ � � ���¦£â¤� Poissonì�©«à ¦«  â®¦¬£� k ¡�¢¢ á, ¡�  k £â©¦¬ª Poisson mi; i = 1; . . . ; k. � � «¦¤ â¢��®¦ §�¢å¡¦¬§ ��¤¦­�¤� é¤ §¨â§�  ¤� ¬§¦¢¦�å©¦¬£� D = �2 log 
. �ç£­à¤� £� «�¤ ì�©¡�©� 2, � � «¦¡¦¨�©£â¤¦ £¦¤«â¢¦  ©®ç�  ¦«  � ��� «à¤ mi �å¤�  m̂i = ni.



ì�©«à ¦«  ¦  §¨¦©�¨£¦©£â¤�ª « £âª � � «¦ £� à£â¤¦ £¦¤«â¢¦ �å¤�  ~mi.
 = kYi=1e� ~mi� ~minini!kYi=1 e�ninniini!�¬¤�§éªlog 
 = �Xi ~mi +Xi ni log ~mi �Xi log ni! +Xi ni �Pi ni log ni++Xi log ni! == Xi (� ~mi + ni) +Xi ni(log ~mi � log ni) :ì�¨� Deviance = �2 log 
 = 2Xi ( ~mi � ni) + 2Xi ni log ni~mi :��¨�«�¨¦ç£� ¦«  �¤ §¨¦©�¨£æ©¦¬£� £¦¤«â¢� §¦¬ � �«�¨¦ç¤ «¦ ¦¢ ¡æ ©ç¤¦¢¦ ¡�«�¢ã�¦¬£�©«¦ Deviance = 2 kXi=1 ni log ni~mi2.6.3 �®â©� £�«�¥ç �¢â�®¦¬ §�¢å¡¦¬ § ��¤¦­�¤� é¤ ¡�  Pearson's X2.- ì�®¦¬£� §¦¢¬à¤¬£ ¡ã ¡�«�¤¦£ã:D = �2 log 
 = 2 kXi=1 ni log� nim̂i��§å©�ª X2 = kXi=1 (ni � m̂i)2m̂i��à¨�å©«� «�¤ f(x) = x log(xy ) = x log x� x log y¡�  â©«à ¦«  �¤�§«ç©©¦¬£� «�¤ ©� ¨á Taylor � �x = y : f(x) � f(y) + (x� y)f 0(y) + 12(x� y)2f 00yf(y) = y log(yy ) = 0f 0(x) = log x+ 1� log y ) f 0(y) = 1f 00(x) = 1x ) f 00(y) = 1y



ì�¨� f(x) � (x� y) + 12 (x� y)2y )) kXi=1 f(xi) = kXi=1 xi log(xiyi ) � kXi=1(xi � yi) + 12 kXi=1 (xi � yi)2yi��ª �¤� �­â¨�  � �¤á§«¬¥� «¦¬ D = 2 kXi=1ni log � nim̂i� , ¡�  �â«¦¤«�ª xi = ni, yi = m̂iâ®¦¬£� D � 2 kXi=1 "(ni � m̂i) + 12 (ni � m̂i)2m̂i #¡�  �§� �ã � � £¦¤«â¢� §¦¢¬à¤¬£ ¡é¤ ���¦£â¤à¤ â®¦¬£��(ni � m̂i) = 0) D � nXi=1 (ni � m̂i)2m̂i = X2:2.6.4 ��¨å¢�¯� ©®�£á«à¤ �� �£�«¦¢�¯å�ªì�©«à, ®à¨åª �¢á�� «�ª ��¤ ¡æ«�«�ª, â¤�ª IxJ §å¤�¡�ª. �� ���¦£â¤� £§¦¨�å ¤� §¨¦â¨®¦¤«� �§æ â¤� �§æ «� §�¨�¡á«à ©®ã£�«� �� �£�«¦¢�¯å�ª:����� �������������� ��. �����������¦¢¬à¤¬£ ¡ã ¡�«�¤¦£ã IJ � 1� ¤æ£�¤¦ §¦¢¬à¤¬£ ¡é¤ ¡�«�¤¦£é¤ I(J � 1) ã J(I � 1)Poisson ¡�«�¤¦£ã IJ� � ¡á�� ¡�«�¤¦£ã £§¦¨¦ç£� ¤� ®¨�© £¦§¦ ã©¦¬£� ��� � � «�¤ �¡«å£�©� «à¤ §�¨�£â-«¨à¤ «¦¬ ¡¦¨�©£â¤¦¬ £¦¤«â¢¦¬:����� �������������� ����¦¢¬à¤¬£ ¡ã ¡�«�¤¦£ã p̂ij = nijn++� ¤æ£�¤¦ §¦¢¬à¤¬£ ¡é¤ ¡�«�¤¦£é¤ p̂ij = nijni+Poisson m̂ij = nijì�£¦ � �¡« £¦ç£� « ª §�¨�£â«¨¦¬ª ¦§¦ ¦¬�ã§¦«� á¢¢¦¬ £¦¤«â¢¦¬ £�ª �¤� �­â ¨�  £� ���,¡�  ©¬�¡¨å¤¦¬£� «� �ç¦ £¦¤«â¢� £� â¢��®¦ §�¢å¡¦¬ § ��¤¦­� ¤� é¤:



����� �������������� DEVIANCE�¦¢¬à¤¬£ ¡ã ¡�«�¤¦£ã D = 2 IXi=1 JXj=1nij log( nijm̂ij )� ¤æ£�¤¦ §¦¢¬à¤¬£ ¡é¤ ¡�«�¤¦£é¤ D = 2 IXi=1 JXj=1nij log( nijm̂ij )Poisson ¡�«�¤¦£ã D = 2 IXi JXj (nij � m̂ij)++ 2 IXi=1 JXj=1nij log � nijm̂ij �2.6.5 �ç�¡¨ ©� ��¡¢à� ©£â¤à¤ (nested) £¦¤«â¢à¤ £� ®¨ã©� �¢â�®¦¬§�¢å¡¦¬ § ��¤¦­�¤� é¤.ì�©«à æ«  â®¦¬£� «�¤ §�¨�¡á«à ��¡¢à� ©« ¡ã �¡¦¢¦¬�å� £¦¤«â¢à¤:M0 �M1 �MSæ§¦¬ MS �å¤�  «¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦, ¡�  â©«à æ«  «� £¦¤«â¢� M0 , M1 ¡�  MS â®¦¬¤�¤«å©«¦ ®� p; p + q ¡�  n §�¨�£â«¨¦¬ª. �â¢¦¬£� ¤� �¢â�¥¦¬£� « ª ¬§¦�â©� ª H0 : M0 ¡�«á�1 : �1.�§å©�ª, â©«à D0 � Deviance §¦¬ �§¦¡«¦ç£� �§æ «�¤ ©ç�¡¨ ©� £�«�¥ç M0 ¡�  Ms , D1 �Deviance §¦¬ �§¦¡«¦ç£� �§æ «� ©ç�¡¨ ©� £�«�¥ç M1 ¡�  Ms, ¡�  �̂0, �̂1 ¡�  �̂S ¦  ���� � «� «¨å� £¦¤«â¢� �¤«å©«¦ ®�. �§¦¨¦ç£� ¤� �¢â�¥¦¬£� «�¤ H0 ¡�«á H1 ®¨�© £¦§¦ é¤«�ª«�¤ � �­¦¨á «à¤ �¢â�®à¤ §�¢å¡¦¬ § ��¤¦­�¤� é¤:�D = D0 �D1 == 2[log L(�̂s;y)� logL(�̂0;y)]� 2[log L(�̂s;y)� logL(�̂1;y)] == 2[log L(�̂1;y)� log L(�̂0;y)]�¤ ¡�  «� �ç¦ £¦¤«â¢� §¦¬ ¦¨å�¦¤«�  �§¦ « ª H0 ¡�  H1 §�¨ �¨á­¦¬¤ «� ���¦£â¤� ¡�¢á,«æ«� D0 � X2n�p ¡�  D1 � X2n�p�q . �¬¤�§éª (£� «�¤ §¨¦è§æ��©� æ«   ©®ç¦¬¤ ¦¨ ©£â¤�ª¬§¦�â©� ª �¤�¥�¨«�©å�ª) �D � X2q .�¦ §�¨�§á¤à �§¦«â¢�©£� ©�£�å¤�  æ«  �á¤ � §¨��£�«¦§¦ ���å©� « £ã �D �å¤�  ©¬¤�§ãª£� «�¤ ¡�«�¤¦£ã X2q , �� �§ ¢â�¦¬£� (��¤ ¡á) «¦ £¦¤«â¢¦ M0 �§� �ã �å¤�  �§¢¦ç©«�¨¦. �á¤§á¨¦¬£� £ � £��á¢� « £ã «¦¬ �D, �§¦¨¨å§«¦¬£� «�¤ H0 ¬§â¨ «�ª H1, ��¢��ã §¨¦« £¦ç£� «¦£¦¤«â¢¦ M1 �§æ «¦ £¦¤«â¢¦ M0. ��£� é©«� æ«  �¬«æ ��¤ ©�£�å¤�  �§�¨�å«�«� æ«  «¦ M1�å¤�  ¡�¢ã §�¨ �¨�­ã «à¤ ���¦ £â¤à¤: �¬«æ £§¦¨�å £æ¤¦ ¤� �¥�¡¨ �à��å ©¬�¡¨å¤¦¤«�ª «�¤Deviance £� �¬«ã «¦¬ ¡¦¨�©£â¤¦¬ £¦¤«â¢¦¬.�¬£§â¨�©£�: �§¦¨¦ç£� ¤� §¨¦©�¨£æ©¦¬£� «¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦, ¡�  £�«á ¤� �§¦©ç-¨¦¬£� ©«�� �¡á æ¨¦¬ª �§æ «¦ £¦¤«â¢¦, �¢â�®¦¤«�ª ©� ¡á�� ©«á� ¦ «�¤ £�«��¦¢ã «�ª Deviance£� «¦¬ª �¤«å©«¦ ®¦¬ª ���£¦çª �¢�¬��¨å�ª.



��£� é©«� �§å©�ª æ«  � §¨¦©��« ¡ã  � æ«�«� «�ª Deviance ��¤ £�«�­â¨�«�  ©«¦¤ â¢��®¦Pearson's X2: � � ¡á�� £¦¤«â¢¦ �¢â�®¦¬£� «�¤ §¨¦©�¨£¦�ã ¡�«á «¦¬ ¡¦¨�©£â¤¦¬ £¦¤«â¢¦¬.2.7 �¦¤«â¢¦ �¤�¥�¨«�©å�ª � � §¦¢¬à¤¬£ ¡ã �� �£�«¦¢�¯å��à¨åª �¢á�� «�ª ��¤ ¡æ«�«�ª, ��à¨¦ç£� §å¤�¡� I � J . �¦ £¦¤«â¢¦ �¤�¥�¨«�©å�ª �å¤� §¦¢ç ©§¦¬��å¦, ©¬¤ã�àª «¦ £æ¤¦ §¦¬ �¢â�®¦¬£�. � ©¬¤ã��ª â¢��®¦ª �å¤� H0: �¤�¥�¨«�©å� «�ª ¡�«��¦¨ ¦§¦å�©�ª �¨�££é¤ ¡�  ©«�¢é¤H1: ¡¦¨�©£â¤¦ £¦¤«â¢¦.�å ©�£�å¤�  �¤�¥�¨«�©å� �¨�££é¤ ¡�  ©«�¢é¤ ©� ©®â©� £� « ª §�¨�£â «¨¦¬ª pij ;Pr(�¨�££ãª i ¡�  ©«ã¢�ª j) = Pr(�¨�££ãª i)Pr(©«ã¢�ª j)ãpij = �i­j æ§¦¬ IXi=1 �i = JXj=1 �j = 1 (1)� � ¤� ¬§¦¢¦�å©¦¬£� «�¤ D ã «¦ X2 §¨â§�  ¤� �¡« £ã©¦¬£� �̂i ¡�  �̂j ¡�  £�«á ¤� ¬§¦¢¦-�å©¦¬£� « ª §¨¦©�¨£¦©£â¤�ª « £âª m̂ij = n++ �̂i�̂j . �� �̂i ¡�  �̂j �¡« £é¤«�  £�� ©«¦§¦ é¤«�ª«�¤ IYi=1 JYj=1(�i�j)nij £� «�¤ §¨¦è§æ��©� «�ª (1).�©®ç�  æ«  (�©¡�©� 3) m̂ij = ni+n+jn++�= n++Pr(�¨�££ã i) Pr(©«ã¢� j) = n++ � ni+n++ � � n+jn++ ���  ���£¦å �¢�¬��¨å�ª �å¤�  (IJ � 1)� ((I � 1) + (J � 1)) = (I � 1)(J � 1). � � � ¤æ£�¤¦§¦¢¬à¤¬£ ¡é¤ (£� ©«���¨æ «¦ á�¨¦ ©£� �¨�££é¤), �¤�¥�¨«�©å� ©¬¤�§á��«�  p1 = p2 = . . . =pI : �¦ ¡¦¨�©£â¤¦ £¦¤«â¢¦ â®�  I(J�1) §�¨�£â«¨¦¬ª, �¤é «¦ £¦¤«â¢¦ �¤�¥�¨«�©å�ª â®�  J�1§�¨�£â«¨¦¬ª, á¨� ¦  ���£¦å �¢�¬��¨å�ª �å¤�  IJ � I � J + 1 = (I � 1)(J � 1).�¬«æ «¦ £¦¤«â¢¦ ¢â��«�  £¦¤«â¢¦ ¦£¦�â¤� �ª «à¤ �¨�££é¤. �©®ç�  æ«  � Deviace �å¤�  � å� �æ§àª ¡�  ©«�¤ §¦¢¬à¤¬£ ¡ã �� �£�«¦¢�¯å� (�©¡�©� 4). �¨�æ«�¨� �� ��å¥¦¬£� æ«  ¡�  ©«��� �£�«¦¢�¯å� Poisson ¡�«�¢ã�¦¬£� ©«�¤ å� � Deviance ¡�  ©«¦¬ª å� ¦¬ª ���£¦çª �¢�¬��¨å�ª.



3.1 � ©��à�ã�ª �¨®å©¦¬£� ��à¨é¤«�ª «�¤ �§¢¦ç©«�¨� §�¨å§«à©�, ��¢��ã «¦¤ §å¤�¡� 2x2:��¨á�� �£�: ����������� ���������� 1 n11 n12 n1+������� 2 n21 n22 n2+n+1 n+2 n++��£� é©«� æ«  æ©¦¤ �­¦¨á «¦¤ ©¬£�¦¢ ©£æ, �� ®¨� �©«�å ¤� �¤�¢¢á©¦¬£� £�«�¥ç «¦¬§�¨�§á¤à ¡�  «�ª §�¨å§«à©�ª §¦¬ â®¦¬£� N � à¤¬£ ¡á §� ¨á£�«���������Y TOTAL1 r1 n1��å¨�£� / �á¨£�¡¦ 2 r2 n2... ... ...N rN nN� §�¨�§á¤à §å¤�¡�ª £§¦¨�å ¤� â®�  �§¦¡«���å £â©à §¨¦©�¦¡é£�¤�ª ã �¤��¨¦£ ¡ãª £�¢â-«�ª. �� ¬§¦�â©¦¬£� §¨¦ª «¦ §�¨æ¤, §¨¦©�¦¡é£�¤� �� �£�«¦¢�¯å�. � § ��¤¦­á¤� � �å¤�«� �§æ P (n11; n21 j p1; p2; n1+; n2+) / pn111 (1 � p1)n12pn212 (1 � p2)n2221



æ§¦¬ pi = Pr (�§æ¡¨ ©� j �á¨£�¡¦ i).�¦ £¦¤«â¢¦ �¤�¥�¨«�©å�ª �å¤�«�  �§æ p1 = p2 = p. � ¦ ��¤ ¡á, �¤� �­�¨æ£�©«� � � «�� �­¦¨á p1 � p2 = c, ¦§æ«� � � c = 0 §�å¨¤¦¬£� «¦ £¦¤«â¢¦ �¤�¥�¨«�©å�ª.�©¬£§«à« ¡á  ©®ç�  æ«  p̂i � N  pi; pi(1 � pi)ni+ ! ;æ§¦¬ p̂i = ni1ni+ � ��� «à¤ pi. �¤ ��à¨ã©¦¬£� H0 : p1 � p2 = p â®¦¬£� ©¬¤�§éªn11n1+ � n21n2+r� 1n1+ + 1n2+ � p(1 � p) � N(0; 1)�¢¢á «¦ p �å¤�  á�¤à©«¦, ¡�  ®¨�© £¦§¦ ¦ç£� «�¤ ��� «¦¬ p:p̂ = n11 + n21n1+ + n2+ = n+1n++ :�¬¤�§éª, £��á¢�ª « £âª «¦¬ n11n1+ � n21n2+r� 1n1+ + 1n2+ � n+1n++ � n+2n++(§.®. > 2) �§¦«�¢¦ç¤ â¤�� ¥� � � £ã �¢��ã H0.��£� é©«� æ«  �¬«æ «¦ �§¦«â¢�©£� �å¤�  �©¬£§«à« ¡æ, ��¢��ã §�¨ £â¤¦¬£� ¡�¢ã ©¬£§�-¨ ­¦¨á � � \ £��á¢�ª " ©¬®¤æ«�«�ª ¡�  p 2 (0:2; 0:8), �¢¢á �á¤ «¦ p �å¤�  £ ¡¨æ ã £��á¢¦ �¬§æ��©� «�ª ©«���¨ãª � �©§¦¨áª var(p̂1) �å¤�  \ç§¦§«�".3.2 �å¤�«¨¦ � � ¢¦� ©« ¡ã §�¢ ¤�¨æ£�©�ì�©«à æ«  � �§æ¡¨ ©� £�«¨ â«�  ©� ©¬¤�®ã ¡¢å£�¡�. �éª �� �¤�¢ç�£� ���¦£â¤� yij æ§¦¬i = 1; 2 ��¢é¤�  «�¤ ��à�ã ¡�  j = 1; . . . ; ni ��¢é¤�  «�¤ �§�¤á¢�¯�;



�¤ «� ���¦£â¤� y �¡¦¢¦¬�¦ç©�¤ ¡�¤¦¤ ¡ã ¡�«�¤¦£ã �� ®¨�© £¦§¦ ¦ç©�£� â¤� §å¤�¡�ANOVA ¡�«á â¤� §�¨á�¦¤«�:y1j = £ + �1j ; j = 1; . . . ; n1y2j = £ + �2 + �2j ; j = 1; . . . ; n2��£� é©«� æ«  £ 2 (�1;1) ¡�  �2 2 (�1;1).�� £§¦¨¦ç©�£� ¤� §¨¦©§��ã©¦¬£� £ � §�¨æ£¦ � §¨¦©â�� ©� £� «� p:E(p1) = £E(p2) = £+ �2�¢¢á ¢æ�à «¦¬ 0 � ri=ni � 1 ¬§á¨®¦¬¤ §�¨ ¦¨ ©£¦å ©«� £; �2. ì�©«à æ«  â®¦¬£� N � à¤¬£ ¡âª§¨¦©§á�� �ª ¡�  ©¬££�«��¢�«ã X (DATASET 1)pi = �+ �xi�¨� ��æ£�©«�
�¨¦­�¤ã £� ¦¤�¡«ã£�«� �å¤�  � �¬©¡¦¢å� �¥��à�ãª ©¬£§�¨�©£á«à¤ (extrapolate) ¡�  �§�¨ ¦¨ ©£â¤� �¨£�¤�å�. ��£� é©«� �¡æ£� æ«  � � �©§¦¨á «¦¬ ri = nipi �¥�¨«á«�  �§æ «¦ pi,á¨�, �¤ ®¨� ��æ£�©«� ¡�¤¦¤ ¡¦çª �¢â�®¦¬ª, � ¬§æ��©� «�ª ©«���¨ãª � �©§¦¨áª ��¤  ©®ç� .3.3 �¤�§å©�£� � ©��à�ã ©«� ��¤ ¡�¬£â¤� �¨�££ ¡á £¦¤«â¢��«� �¨�££ ¡á £¦¤«â¢� ¬§¦�â©�£�(1) yi = £i + �i , �i � N(0; ©2), �¤�¥á¨«�«�



(2) �¨�££ ¡ã §¨¦�¢â§¦¬©� n = pXj=1�jXj(3) n = £: «�¬«¦« ¡æª ©ç¤��©£¦ª.� ©á�¦¬£� «é¨� £ � ¤â� ¡�«��¦¨å� £¦¤«â¢à¤, «� ��¤ ¡�¬£â¤� �¨�££ ¡á £¦¤«â¢�. �¬«á «�£¦¤«â¢� ¬§¦�â«¦¬¤ æ«  «¦ (2) �å¤�  §á¤«� �¢��âª, �¢¢á æ®  «� (1) ¡�  (3).�«�¤ (3) ¦ ©ç¤��©£¦ª £�«�¥ç «à¤ �¤�£�¤æ£�¤à¤ ���¦£â¤à¤ ¡�  «�ª ©¬¤á¨«�©�ª «¦¬ £¦-¤«â¢¦¬ �å¤�  ¦ «�¬«¦« ¡æª. �¨å�¦¬£� «é¨� «�¤ ©¬¤á¨«�©� ©¬¤�â©£¦¬ (link function) g «â«¦ �é©«� n = g(£). �å��£� ã�� «� §¨¦�¢ã£�«� §¦¬ §�¨¦¬© á�¦¤«�  ©«� � à¤¬£ ¡á ���¦£â¤�æ«�¤ ¬§¦�â«¦¬£� «�¬«¦« ¡æ ©ç¤��©£¦. �é¨�, ©«�¤ §�¨å§«à©� «à¤ � à¤¬£ ¡é¤ ���¦£â¤à¤,�â¢¦¬£� ¤� ©¬¤�â©¦¬£� £� ¡á§¦ ¦ £¦¤«â¢¦ «�¤ ©®â©� £�«�¥ç «à¤ pi ¡�  «�¤ § ��¤ã §�¨¦¬©å�©¬££�«��¢�«é¤, ��¢��ã �¤ E( rn) = p �â¢¦¬£� g(p) = pXj=1�jXj.3.3.1 �¬¤�¨«ã©� ª ©¬¤�â©£¦¬ � � �¬à¤¬£ ¡á ���¦£â¤��ª �¦ç£� §á¢  «¦ DATASET 1, ¡�  â©«à æ«  ©®�� á�¦¬£� «� §¦©¦©«á pi ¡�«á «à¤ ©¬££�«�-�¢�«é¤ xi.
����: �ã§àª ¬§á¨®�  ¦£¦ æ«�«� £� «¦ �¨á­�£� «�ª ��¨¦ ©« ¡ãª ©¬¤á¨«�©�ª ¡�«�¤¦£ãª; �� £§¦¨¦ç©�£� ¤� ¦¨å©¦¬£� «�¤ ©¬¤á¨«�©� ©¬¤�â©£¦¬ ¤� �å¤�  g(p) = ��1(p) = x ,�¢¢á �¬«æ �å¤�  §¦¢ç §�¨ ¦¨ ©« ¡æ, ��¤ £�ª �å¤�  �¢�©« ¡æ«�«� � �«å � �¨�££ã �å¤�  ©«���¨ã.��à¨�å©«� «�¤ g(p) = ��1(p) = �+ �xæ§¦¬ «¦ � £�ª �§ «¨â§�  ¤� ¡ ¤¦ç£�©«� ©«¦¤ á¥¦¤� «à¤ x ¡�  «¦ � ¨¬�£å��  «�¤ ¡¢å©�, ©��¤« ©«¦ ®å� £� «�¤ �§¢ã �¨�££ ¡ã §�¢ ¤�¨æ£�©�. �¬«æª ¦ ©ç¤��©£¦ª �å¤�  �¤à©«æª ©�¤probit ©ç¤��©£¦ª. ��£� é©«� «�¤ ©¬££�«¨å� �§� �ã g(p) = �g(1� p).



3.4 �¨£�¤�å� «à¤ ©¬¤�¨«ã©�à¤ ©¬¤�â©£¦¬ � � � à¤¬£ ¡á���¦£â¤�ì�©«à æ«  �¡«�¢¦ç£� â¤� §�å¨�£� � � ¤� ¡��¦¨å©¦¬£� «�¤ «¦¥ ¡æ«�«� ¡á§¦ �ª ¦¬©å�ª.�å¤¦¬£� �§å§��� ©¬�¡â¤«¨à©�ª Xi; i = 1; . . . ; N «�ª ¦¬©å�ª ©� ni §� ¨�£�« ¡âª £¦¤á��ª, ¡� §�¨�«�¨¦ç£� ¡á§¦ � � à¤¬£ ¡ã �§æ¡¨ ©� (§.®. �á¤�«¦ª). � � ¡á�� £¦¤á�� ¬§á¨®�  â¤� �§å§��¦©¬�¡â¤«¨à©�ª ¡á«à �§æ «¦ ¦§¦å¦ ©¬£��å¤�  � �§æ¡¨ ©� ¡�  §á¤à �§æ «¦ ¦§¦å¦ � �§æ¡¨ ©���¤ ©¬£��å¤� . �¬«ã � « £ã ¦¤¦£á��«�  �¤¦®ã (Tolerance), ¡�  «�¤ ©¬£�¦¢å�¦¬£� £� ¢. ì�¨�y = 0 �¤ ¢ < xiy = 1 �¤ ¢ � xi��à¨¦ç£� «é¨� «¦¤ §¢��¬©£æ æ¢à¤ «à¤ £¦¤á�à¤, ¡�  §¨¦­�¤éª £â©� ©� �¬«æ¤ «¦¤ §¢��¬©£æ� �¤¦®ã §¦ ¡å¢¢� . ì�©«à f(¢) � ©.§.§. «à¤ �¤¦®é¤. �«¦¤ §¢��¬©£æ, «¦ §¦©¦©«æ §¦¬�§¦¡¨å¤�«�  ©� �æ©� £��â�¦¬ª xi �å¤�  ©¬¤�§éªpi = Pr(¢ � xi) = Z xi0 f(¢)d¢(��¢��ã �á¤ ��¤ ¬§ã¨®� £�«��¢�«æ«�«� «à¤ �¤¦®é¤ ©«¦¤ §¢��¬©£æ, æ¢� «� xi �� ã«�¤ ã£ ¡¨æ«�¨� «�ª �¤¦®ãª ¡�  �� �å®�£� pi = 0 ã £���¢ç«�¨� ¡�  �� �å®�£� pi = 1).�é¨� ��à¨�å©«� �§å§��� ©¬�¡â¤«¨à©�ª x1 < x2 < . . . < xN (§ ��¤éª £�«á �§æ ¡á§¦ ¦£�«�©®�£�« ©£æ, §.®. log) ¡�  â©«à æ«  � ¡�«�¤¦£ã �¤¦®ãª �å¤�  ¢ � N(£; ©2)(= f(¢)). � �i = 1; . . . ; N; ni §� ¨�£�« ¡âª £¦¤á��ª �§ ¢â�¦¤«�  �§æ «¦¤ §¢��¬©£æ ¡�  ¢�£�á¤¦¬¤ �§å§���©¬�¡â¤«¨à©�ª xi. � § ��¤æ«�«� «�ª �§æ¡¨ ©�ª �å¤�«�  �§æpi = Pr(¢ � xi) == Z xi�1 1p2§©2 exp h� 12©2 (¢� £)2i d¢ = � � xi�£© �� �¨ �£æª «à¤ �§¦¡¨å©�à¤ Yi â®�  � à¤¬£ ¡ã ¡�«�¤¦£ã £� §�¨�£â«¨¦¬ª ni ¡�  pi, ��¢.Yi � B(ni; Pi); i = 1; . . . ; N . �¬¤�§éª��1(pi) = xi© � £© = �xi + �æ§¦¬ � = �£© ¡�  � = 1© . ì�¨� � ©¬¤á¨«�©� ©¬¤�â©£¦¬ g( : ) �å¤�  ��1( : ), ¡�  �¬«æ «¦ £¦¤«â¢¦�å¤�  â¤� §�¨á�� �£� «¦¬ £¦¤«â¢¦¬ probit. � « £ã x = £ ¡�¢�å«�  � � á£�©¦ª ��¤á© £� �æ©�,(median lethal dose), ©¬£�¦¢å��«�  LD50, ¡�  �¤« ©«¦ ®�å ©«�¤ �§� «¦ç£�¤� �æ©� ¤� ©¡¦«é©� ¡�«á £â©¦ æ¨¦ « ª £ ©âª §� ¨�£�« ¡âª £¦¤á��ª.�á¤ � ¡�«�¤¦£ã �¤¦®ãª f(¢) �å¤�  ¦£¦ æ£¦¨­� ©«¦ � á©«�£� [¢1; ¢2], «æ«�pi = Z xi¢1 f(¢)d¢ = xi � ¢1¢2 � ¢1 � � ¢1 � xi � ¢2§¦¬ �å¤�  «�ª £¦¨­ãª pi = �+ �xi £�� = � ¢1¢2 � ¢1 ¡�  � = 1¢2 � ¢1



- �¬£���å«� «�¤ ©¬�ã«�©� «�ª �¤�§á¨¡� �ª �¬«¦ç «¦¬ £¦¤«â¢¦¬ ©«�¤ §�¨á�¨�­¦ 3.2.ì�¤� £¦¤«â¢¦ §¦¬ �å¤�  �¨ �£�« ¡á �§¦«�¢â©£�«� §�¨æ£¦ � «¦¬ £¦¤«â¢¦¬ probit, �¢¢á §¦¬�å¤�  ¬§¦¢¦� ©« ¡á �¬¡¦¢æ«�¨¦, �å¤�  «¦ ¢¦� ©« ¡æ (logistic ã logit) £¦¤«â¢¦. � ¡�«�¤¦£ã�¤¦®ãª �å¤�  � ¢¦� ©« ¡ã ¡�«�¤¦£ã.f(¢) = � exp(�+ �¢)[1 + exp (�+ �¢)]2 ; �1 < ¢ <1:�� �¬«ã «� §�¨å§«à©�pi = Pr(¢ � xi)= R xi�1 � exp (�+ �¢)[1 + exp (�+ �¢)]2 d¢= � exp (�+ �¢)1 + exp(�+ �¢)�xi�1 = exp(�+ �xi)1 + exp(�+ �xi)§¦¬ �å¤�  «�¤ ©¬¤á¨«�©� ©¬¤�â©£¦¬log pi1� pi! = �+ �xi��¢��ã â¤� �¨�££ ¡æ £¦¤«â¢¦ ©� ©®â©� £� «� log pi1� pi! (= logits). �¬«æ «¦ £¦¤«â¢¦®¨�© £¦§¦ �å«�  §¦¢ç ©¬®¤á ©«� � à¤¬£ ¡á ���¦£â¤�.ì�¢¢�ª ©¬¤�¨«ã©� ª ©¬¤�â©£¦¬ §¨¦â¨®¦¤«�  �§æ � �­¦¨�« ¡âª ��¨¦ ©« ¡âª ©¬¤�¨«ã©� ª¡�«�¤¦£é¤. � � §�¨á�� �£�, �§æ «�¤ ¡�«�¤¦£ã �¡¨¦«á«à¤ (extreme value distribution)f(¢) = �exp[(�+ �¢)� exp(�+ �¢)]¦���¦ç£�©«� ©«�¤pi = 1� exp(1� e�+�®i))) log[� log(1� pi)] = �+ �xi:� §�¨�§á¤à ©ç¤��©£¦ª �å¤�  �¤à©«æª ©�¤ ©¬£§¢�¨à£�« ¡æª log-log ©ç¤��©£¦ª (Complemen-tary log - log link function). �¬«æ «¦ £¦¤«â¢¦ �å¤�  §�¨æ£¦ ¦ £� «¦ ¢¦� ©« ¡æ ¡�  probit� � « £âª «¦¬ p ¡¦¤«á ©«¦ 1=2, �¢¢á � �­â¨�  ¡¦¤«á ©«¦ 0 ¡�  1. ��£� é©«� �§å©�ª æ«  �å¤� ©¬££�«¨ ¡æ �ç¨à �§æ «¦ p = 1=2 ©�¤ « ª ©¬¤�¨«ã©� ª probit ¡�  ¢¦� ©« ¡ã.



3.4.1 �®æ¢ �(1) �¦¢¢¦å �§ ©«ã£¦¤�ª, ¡¬¨åàª �§ ��£ ¦¢æ�¦ , §¨¦« £¦ç¤ ¤� ©¡â­«¦¤«�  ®¨�© £¦§¦ é¤«�ª¢æ�¦¬ª ©¬£§¢�¨à£�« ¡é¤ § ��¤¦«ã«à¤ (odds):Oi = pi1 � pi ; i = 1; . . . ; N§.®. 3 §¨¦ª 1 ¬§â¨ ) pi1�pi = 3) pi = 343 §¨¦ª 1 ¡�«á ) pi1�pi = 13 ) pi = 14�§� �ã 0 � Oi �1 ¦ ¢¦� ¡æª ©ç¤��©£¦ª ¢ç¤�  § ��¤á §¨¦�¢ã£�«�. �¨¦©â¥«� «é¨� æ« log � pi1�pi� = logit(pi) 2 (�1;1) ¡� log � pi1�pi� = log 3 = 1:1log � pi1�pi� = log(13) = � log 3 = �1:1(2) � � 2x2 §å¤�¡�ª, � ®¨ã©� «¦¬ logit ©¬¤�â©£¦¬ §¨¦«¨â§�  ©� £å� §¨¦­�¤ã §¦©æ«�«� §¦¬�å¤�  �¤� �­â¨¦¬©�, «�¤ � �­¦¨á «à¤ logit:� = log � p11�p1 �� log � p21�p2�= log �p1(1�p2)p2(1�p1)��� ¦¤¦£á�¦¬£� «¦ � \� �­¦¨á ¢æ�¦¬ ©¬£§¢�¨à£�« ¡é¤ § ��¤¦«ã«à¤". �¨¦©â¥«� æ«  «¦� £�ª ��¢é¤�  �§¢éª «�¤ � �­¦¨á £�«�¥ç «à¤ ¢æ�à¤ ©¬£§¢�¨à£�« ¡é¤ § ��¤¦«ã«à¤, ��¤ £�ª�å¤�  §¢�¨¦­¦¨å�ª � � «� pi. � � §�¨á�� �£�, â©«à � = 1. �æ«� �á¤ p1 = 0:1 ) p2 = 0:04,�¤é �á¤ p1 = 0:5) p2 = 0:27. �¬«æ �â�� � �å¤�  ¢¦� ¡æ, £ � ¡�  ®¨� ��æ£�©«� «¦¬¢á® ©«¦¤�ç¦ §¦©æ«�«�ª �§æ « ª p1; p2 ¡�  � � � ¤� ¡��¦¨å©¦¬£� �¤«�¢éª «�¤ ¡�«�¤¦£ã.3.5 �£§� ¨ ¡æª ¢¦� ©« ¡æª £�«�©®�£�« ©£æªì�®¦¬£� ��å æ«  ¦ ¡ç¨ ¦ª ©ç¤��©£¦ª � � «� � à¤¬£ ¡á ���¦£â¤� �å¤�  ¦ ¢¦� ©« ¡æª ©ç¤��-©£¦ª g(pi) = log( pi1�pi ). �¬¤ã�àª �¨®å�¦¬£� «�¤ �¤á¢¬©� �§¦¡«é¤«�ª �¡« £ã«¨ �ª «à¤ logit� � £â©¦¬ «à¤ �¡« £�«¨ é¤ «¦¬ ��å�£�«¦ª. �¬«âª �å¤�  ®¨ã© £�ª � � «¦¤ ©®�� �©£æ ¡�«á «à¤©¬££�«��¢�«é¤ ã §�¨��æ¤«à¤ � � «�¤ �¥��à�ã ©¬£§�¨�©£á«à¤ � � § ��¤âª ©®â©� ª. �§� �ã�¡« £¦ç£� pi £� p̂i = rini , £ � §¨¦­�¤ãª �¡« £ã«¨ � �� ã«�¤Zi = log rini1 � rini ! = log � rini � ri��¬©«¬®éª ¬§á¨®�  â¤� § ��¤æ §¨æ�¢�£�, ©« ª §�¨ §«é©� ª §¦¬ ri = 0 ã ri = ni. � � �¬«æ¦¨å�¦¬£� «¦¤ «¨¦§¦§¦ �£â¤¦ �£§� ¨ ¡æ logit , £�Zi = log ri + 12ni � ri + 12 !



3.6 �¬£§�¨�©£�«¦¢¦�å� � � ¢¦� ©« ¡ã §�¢ ¤�¨æ£�©��¤ �¡« £ã©¦¬£� « ª §�¨�£â«¨¦¬ª (â©«à �; �) £� ���, «æ«� ¦  �¡« £ã«¨ �ª �å¤�  �©¬£§«à-« ¡á ¡�¤¦¤ ¡âª. �¬¤�§éª � �©«ã£�«� �£§ ©«¦©ç¤�ª � � « ª §�¨�£â«¨¦¬ª â®¦¬¤ «�¤ £¦¨­ã�̂ � Z�=2 � «¬§:©­á¢£� (�̂)æ§¦¬ ��=2 = Z Z�=2�1 �(t)dt = 1� �=2:� §�¨�§á¤à ©®â©� �§ «¨â§�  §¨¦©��� ©« ¡¦çª �¢â�®¦¬ª, æ§àª H0 : � = 0 ¡.¢.§. �§¦¨¦ç£��§å©�ª ¤� ®¨�© £¦§¦ ã©¦¬£� «¦¤ â¢��®¦ §�¢å¡¦¬ § ��¤¦­�¤� é¤, §.®. ¤� �¨¦ç£� «�¤ Deviance£�«�¥ç �ç¦ ��¡¢à� ©£â¤à¤ £¦¤«â¢à¤ ¡�  ¤� «�¤ ©¬�¡¨å¤¦¬£� £� «�¤X2a ¡�«�¤¦£ã £� ���£¦çª�¢�¬��¨å�ª å©¦¬ª £� «�¤ � �­¦¨á � �©«á©�à¤ £�«�¥ç «à¤ �ç¦ £¦¤«â¢à¤.3.7 ��� � � ¢¦� ©« ¡ã §�¢ ¤�¨æ£�©���à¨�å©«� «¦ £¦¤«â¢¦logit pi1 � pi! = �+ �xi; i = 1; . . . ; Nì�©«à æ«  �¤� �­�¨æ£�©«� � � « ª ��� � � � ¡�  � ¡�  â©«à L(�; �) � § ��¤¦­á¤� �.L(�; �) / QNi=1 prii (1 � pi)ni�ri )) logL = PNi=1 [ri log pi + (ni � ri) log(1� pi)]�é¨�, pi = e�+�xi1 + e�+�xi :ì�¨�, logL = PNi=1 ri log � e�+�xi1+e�+�xi �+ (ni � ri) log � 11+e�+�xi � == PNi=1 ri(�+ �xi)� ni log(1 + e�+�xi) :ì�¨�, � logL�� = 0)PNi=1 �ri � nie�̂+�̂xi1+e�̂+�̂xi � = 0� logL�� = 0 )PNi=1 �rixi � nixie�̂+�̂xi1+e�̂+�̂xi � = 0�  §�¨�§á¤à �¥ ©é©� ª ��¤ �å¤�  �¬¤�«æ¤ ¤� ¢¬�¦ç¤ �¤�¢¬« ¡á, �¢¢á ¢ç¤¦¤«�  � �£â©¦¬©«�« ©« ¡é¤ §�¡â«à¤ �¨ �£�« ¡á.



3.8 �ç§¦  £¦¤«â¢à¤ ¢¦� ©« ¡ãª §�¢ ¤�¨æ£ ©�ª�� �¤�¢¦�å� £� «� ¡�¤¦¤ ¡á �¨�££ ¡á £¦¤«â¢�, £§¦¨¦ç£� ¤� §¨¦©�¨£æ©¦¬£� «� §�¨�-¡á«à ¢¦� ©« ¡á £¦¤«â¢�:(A) log � pi1�pi� = �+ �xi ; i = 1; . . . ; N(B) log � pi1�pi� = ( ££+ �i ; i = 1i = 2; . . . ; N )�¦ (A) �¤« ©«¦ ®�å ©«�¤ �¨�££ ¡ã §�¢ ¤�¨æ£�©� ¡�  «¦ (�) ©«�¤ �¤á¢¬©� � �©§¦¨áª ¡�«áâ¤� §�¨á�¦¤«�. ì�©«à æ«  â®¦¬£� §� ¨á£�«� £� £ � ©¬££�«��¢�«ã (§.®. �§å§��¦ �¦©¦¢�¯å�ª ã�¢ ¡å�) ¡�  â¤� §�¨á�¦¤«� (§.®. ­ç¢¦). ì�©«à æ«  i = 1; . . . ; N ©¬£�¦¢å��  « ª ©¬££�«��¢�«âª¡�  j = 1; 2 «� �§å§��� «¦¬ §�¨á�¦¤«�.log pij1� pij ! = ( �1 + �xi ; i = 1; . . . ; N ; j = 1�2 + �xi ; i = 1; . . . ; N ; j = 2��é â®¦¬£� â¤� ©�­ã ©¬©®�« ©£æ £� £¦¤«â¢� ANCOVA (�¤á¢¬©� ©¬¤� �¡ç£�¤©�ª). �§¦-¨¦ç£� �§å©�ª ¤� ©¬£§�¨ ¢á�¦¬£� á¢¢�ª §�¨ §«é©� ª æ§àª \£ã §�¨á¢¢�¢�ª �¬��å�ª" ¡.¢.§.3.9 �¦¤«â¢� ¢¦� ©« ¡ãª §�¢ ¤�¨æ£�©�ª � � §å¤�¡�ª 2�I�J.ì�©«à æ«  â®¦¬£� � à¤¬£ ¡ã �§æ¡¨ ©� £� �ç¦ §�¨á�¦¤«�ª A ¡�  � §¦¬ â®¦¬¤ I ¡�  J�§å§��� �¤«å©«¦ ®�. ì�©«à �§å©�ª pij � § ��¤æ«�«� �§ «¬®å�ª � � «¦ (i; j)�©«æ �¬à¤¬£ ¡æ§�å¨�£�. ��à¨¦ç£� «� §�¨�¡á«à £¦¤«â¢�:(1) M1: ����¤ ¡æ £¦¤«â¢¦, (Null model)logit(pij) = £; i = 1; . . . ; I; j = 1; . . . ; J�¦ §�¨�§á¤à £¦¤«â¢¦ ©¬¤�§á��«�  æ«  � § ��¤æ«�«� �§ «¬®å�ª �å¤�  �¤�¥á¨«�«� «à¤ �ç¦§�¨��æ¤«à¤, ¡�  â®�  £ � §�¨á£�«¨¦.(2) M2: � § ��¤æ«�«� �§ «¬®å�ª �¥�¨«á«�  £æ¤¦ �§æ «¦¤ §�¨á�¦¤«� � :logit(pij) = ( £ ; i = 1 ; j = 1; . . . ; J£+ �i ; i = 2; . . . ; I ; j = 1; . . . ; J�  §�¨á£�«¨¦  ��é �å¤�  I.(3) M3: � § ��¤æ«�«� �§ «¬®å�ª �¥�¨«á«�  �§æ «¦¤ §�¨á�¦¤«� � £æ¤¦:logit(pij) = ( £ ; i = 1; . . . ; I ; j = 1£ + �j ; i = 1; . . . ; I ; j = 2; . . . ; J��é â®¦¬£� J §�¨�£â«¨¦¬ª.



(4) M4 : � § ��¤æ«�«� �§ «¬®å�ª �¥�¨«á«�  ¡�  �§æ «¦¬ª �ç¦ §�¨á�¦¤«�ª:logit(pij) = 8>>><>>>: £ i = 1 ; j = 1£+ �i i = 2; . . . ; I ; j = 1£+ �j i = 1 ; j = 2; . . . ; J£+ �i + �j i = 2; . . . ; I ; j = 2; . . . ; J��é â®¦¬£� (I � 1) + (J � 1) + 1 §�¨�£â«¨¦¬ª.(5) M5: �¦¨�©£â¤¦ £¦¤«â¢¦.logit(pij) = 8>>><>>>: £ i = 1 ; j = 1£+ �i i = 2; . . . ; I ; j = 1£+ �j i = 1 ; j = 2; . . . ; J£+ �i + �j + (��)ij i = 2; . . . ; I ; j = 2; . . . ; J�  §�¨á£�«¨¦  «¦¬ ¡¦¨�©£â¤¦¬ £¦¤«â¢¦¬ �å¤� (I � 1) + (J � 1) + 1 + (I � 1)(J � 1) = IJ:�� ��¡¢à� ©£â¤� £¦¤«â¢� £§¦¨¦ç¤ ¤� §�¨ �¨�­¦ç¤ �¨�­ ¡á.�¤á¢¦�� £¦¤«â¢� £§¦¨¦ç£� ¤� §¨¦«�å¤¦¬£� ¡�  � � á¢¢�ª ©¬¤�¨«ã©� ª ©¬¤�â©£¦¬ (§.®.probit ¡.¢.§.).3.10 �®æ¢ � � � «�¤ §¨¦©�¨£¦�ã «à¤ £¦¤«â¢à¤(1) ì�¨¦  �¢¢�¢�§å�¨�©�ª�¢¢�¢�§å�¨�©� §¨é«¦¬ ���£¦ç : �¨£�¤�ç�«�  ©�¤ «�¤ \�¦£ã §â¨�¤ �¬«ãª §¦¬ �å¤�«�  �§æ «�¤�§¢ã §¨¦©��« ¡æ«�«� «à¤ §�¨��æ¤«à¤ æ«�¤ �¨¦ç¤ ®à¨ ©«á ".�¢¢�¢�§å�¨�©� ��ç«�¨¦¬ ���£¦ç: \� �¦£ã �§ §¢â¦¤ «�ª �§¢ãª §¨¦©��« ¡æ«�«�ª «à¤ §�¨�-�æ¤«à¤ ¡�  «�ª �¢¢�¢�§å�¨�©�ª §¨é«¦¬ ���£¦ç".ì�¢� «� £¦¤«â¢� §¦¬ â®¦¬£� ��à¨ã©�   ¡�¤¦§¦ ¦ç¤ «�¤ �¨®ã «�ª §�¨ �à¨ ¦§¦å�©�ª (principleof marginality). �á¤ â¤� £¦¤«â¢¦ §�¨ â®�  â¤� ©¬�¡�¡¨ £â¤¦ æ¨¦, «æ«� §�¨ â®�  æ¢¦¬ª «¦¬ª§�¨ �é¨ ¦¬ª æ¨¦¬ª §¨¦ª �¬«æ¤: §.®. �á¤ � �� �å¤�  §�¨æ¤, «æ«� � ¡�  � �å¤�  �§å©�ª §�¨æ¤«�ª.�¬¤ã�àª â®¦¬£� ©¬£�¦¢ ©£æ «�ª £¦¨­ãªA �B = A+B +A �B ) A �B �A �B � A+B(2) �§å©�£¦  â¢��®¦ � â¢��®¦ª «�ª �§á¨¡� �ª «¦¬ «¨â®¦¤«¦ª £¦¤«â¢¦¬ ¡�«á «¦¬ ¡¦¨�©£â¤¦¬ �å¤�«�  £� «�¤ �¤à©«ã©ç�¡¨ ©� «�ª Deviance £� «�¤ ¡�«á¢¢�¢� X2 ¡�«�¤¦£ã. ��£� é©«� æ« , �­� ¨é¤«�ª æ¨¦¬ª�§æ � �­¦¨�« ¡á �§å§��� ¦���¦ç£�©«� ©� � �­¦¨�« ¡âª £�«��¦¢âª «�ª Deviance. � � §�¨á-�� �£�, â©«à æ«  â®¦¬£� 3 §�¨á�¦¤«�ªA, B ¡�  C. �á¤ §�¨¤¦ç£� �§æ «¦ £¦¤«â¢¦ A+B+A�B©«¦ £¦¤«â¢¦ A+ B , � Deviance ��¤ �� �å¤�  �§�¨�å«�«� � å� � £� �¬«ã «�ª ©ç�¡¨ ©�ª «à¤£¦¤«â¢à¤ A+B + C +A �B ¡�  A+B + C.(3) ��¡¢à� ©£â¤� £¦¤«â¢� � � 3 §�¨á�¦¤«�ª



�� �¤�­�¨�¦ç£� ©� §å¤�¡� I � J ©¬®¤¦«ã«à¤ Poisson. �§�¤�ç£ ©�:Pr(Nij = nij) = e�mijmnijijnij! ; i = 1; . . . ; I; j = 1; . . . ; J :4.1 �¦¤«â¢¦ �¤�¥�¨«�©å�ª � � §å¤�¡� I � J�¬®¤á «¦ §¨é«¦ £¦¤«â¢¦ §¦¬ ��à¨¦ç£� �å¤�  «¦ £¦¤«â¢¦ �¤�¥�¨«�©å�ª, ��¢. �¬«æ §¦¬¬§¦�â«�  æ«  ¦  ¡�«��¦¨å�ª �¨�££é¤ ¡�  ©«�¢é¤ �å¤�  �¤�¥á¨«�«�ª. �¨å�¦¬£� «�¤ �¤�¥�¨«�©å�©�¤ �¤�£�¤æ£�¤. �¨ �£æª ©«¦ ¡�¢¢å (i; j) = ki� �¤�£�¤æ£�¤. �¨ �£æª ©«�¤ ©«ã¢� j��¢��ã E(Nij) = mij = kiE(N+j)�¢¢á E(N+j) = E( IXi=1Nij) = IXi=1E(Nij) = m+j( � �«å �á¤ Ni � Poisson(mi)) kXi=1Ni � Poisson( kXi=1mi))) mij = kim+j )) PJj=1mij = PJj=1 kim+j ) mi+ = kim++ )) ki = mi+m++ :�¬¤�§éª, � �¤�¥�¨«�©å� � � §å¤�¡� Poisson I � J ©¬¤�§á��«� mij = mi+m+jm++ :�§¦¨�å ¤� �§¦�� ®��å (�¢¢á �å¤�  ¡¦§ �©« ¡æ) æ«  ¦  ��� � � ���¦£â¤� Poisson �å¤� m̂ij = ni+n+jn++ :31



� ©¬¤¦¢ ¡æª �¨ �£æª «à¤ §�¨�£â«¨à¤ �å¤�  (I�1)+(J�1)+1 (� �«åXi mi+ =Xj m+j = m++©ç¤ «�¤ m++ ) ¡�  � � �­¦¨á �§æ «¦ ¡¦¨�©£â¤¦ (residual degrees of freedom) �å¤� IJ � f(I � 1) + (J � 1) + 1g = (I � 1)(J � 1):�§å©�ª, � Deviance �å¤�  å� � ©ç£­à¤� £� «�¤ 2.6.2. ì�¨� � � §¦¢¬à¤¬£ ¡ã, � ¤æ£�¤¦ §¦-¢¬à¤¬£ ¡é¤ ¡�  Poisson ©®ã£�«� �� �£�«¦¢�¯å�ª â®¦¬£� « ª å� �ª §¨¦©�¨£¦©£â¤�ª « £âª, « ªå� �ª Deviance ¡�  å� ¦¬ª ���£¦çª �¢�¬��¨å�ª. �¬«æ �¥���å � �«å ¦ \ �§¢¦ä¡æª " Pearson X2â¢��®¦ª �¤�¥�¨«�©å�ª ®¨�© £¦§¦ �å«�  �¤�¥�¨«ã«àª «¦¬ ©®ã£�«¦ª �� �£�«¦¢�¯å�ª.�¡«æª �§æ «�¤ �¤�¥�¨«�©å�, ¬§á¨®¦¬¤ §¦¢¢âª á¢¢�ª ©®â©� ª §¦¬ �� �â¢�£� ¤� � ©á�¦¬£�©� ¡á§¦ ¦ £¦¤«â¢¦ ���¦£â¤à¤ Poisson. �¬£���å«� æ«  ©«� ���¦£â¤� � à¤¬£ ¡ãª ¡�«�¤¦-£ãª �¤� �­�¨æ£�©«� � � £¦¤«â¢� §¦¬ ¡��¦¨å�¦¬¤ ©®â©� ª «à¤ § ��¤¦«ã«à¤ \�§ «¬®å�ª " pi.ì�«�¤ â®¦¬£� ���¦£â¤� Poisson §¨¦©§��¦ç£� ¤� ©¬©®�«å©¦¬£� «¦¬ª £â©¦¬ª «à¤ ¡�¢¢ é¤ mij.ì�®¦¬£� mij > 0 ©¬¤�§éª, ©� ©®â©� £� «� ��¤ ¡�¬£â¤� �¨�££ ¡á £¦¤«â¢�, �â¢¦¬£� £ � ©¬-¤á¨«�©� ©¬¤�â©£¦¬ g «â«¦ � é©«� �1 < g(mij) < 1 ¡�  £�«á §¨¦©�¨£æ�¦¬£� £¦¤«â¢�«�ª £¦¨­ãª g(mij) =Xk Xk�k. �� £¦¤«â¢� §¦¬ �� £�¢�«ã©¦¬£� ©«�¤ ©¬¤â®� � �å¤�   � �å«�¨�®¨ã© £� � �«å �¡«æª �§æ ���¦£â¤� Poisson, £§¦¨¦ç¤ �§å©�ª ¤� ®¨�© £¦§¦ ��¦ç¤ � � ���¦£â¤�§¦¢¬à¤¬£ ¡ãª ¡�«�¤¦£ãª ã � ¤¦£â¤¦¬ §¦¢¬à¤¬£ ¡é¤ ¡�«�¤¦£é¤.4.2 �¦��¨ �£ ¡á �¨�££ ¡á £¦¤«â¢� (log-linear models)� �¤�¥�¨«�©å� �å¤�   ©¦�ç¤�£� £�mij = mi+m+jm++ :�¬«æ ©¬¤�§á��«�  æ«  � � i = 1; . . . ; I; j =1; . . . ; J; logmij = logmi+ + logm+j � logm++ (4.1)¡�  �¡¦¢¦ç�àª ©« ª §�¨�¡á«à �¥ ©é©� ª:I�1Xi logmij = I�1Xi logmi+ + logm+j � logm++ (4.2)J�1Xj logmij = logmi+ + J�1Xj logm+j � logm++ (4.3)(IJ)�1Xi Xj logmij = I�1Xi logmi+ + J�1Xj logm+j � logm++ (4.4)�§æ (2)) logmi+ = J�1Xj logmij � J�1Xj logm+j + logm++ (4.5)�§æ (1)) logm+j = I�1Xi logmij � I�1Xi logmi+ + logm++ (4.6)�¤« ¡�� ©«é¤«�ª (3.5) ¡�  (3.6) ©«�¤ (3.1) â®¦¬£�:



logmij = logmi+ + logm+j � logm++ == 0@J�1Xj logmij � J�1Xj logm+j + logm++1A++  I�1Xi logmij � I�1Xi logmi+ + logm++!� logm++ == J�1Xj logmij + I�1Xi logmij � 24I�1Xi logmi+ + J�1Xj logm+j � logm++35� ©®â©� £â©� ©« ª ��¡ç¢�ª ¢æ�à «�ª (3.4)  ©¦ç«�  £� (IJ)�1Xi Xj logmij. �¬¤�§éªlogmij = J�1Xj logmij + I�1Xi logmij � (IJ)�1Xi Xj logmij (4:7)�¤ �¨á¯¦¬£� £ij = logmij, � (3.7) �å¤�«� £ij = �£+j + �£i+ � �£++ == �£++ + (�£i+ � �£++) + (�£+j � �£++) (4.8)�¬¤�§éª, â®¦¬£� �¡­¨á©�  «¦ £¦¤«â¢¦ �¤�¥�¨«�©å�ª ©�¤ ��¨¦ ©« ¡æ ©«�¤ logmij ¡¢å£�¡�.�§¦¨¦ç£� ¤� �¡­¨á©¦¬£� «�¤ (3.8) ©�¤logmij = 8>>><>>>: £ i = 1 ; j = 1£ + �i i = 2; . . . ; I ; j = 1£ + �j i = 1 ; j = 2; . . . ; J£ + �i + �j i = 2; . . . ; I ; j = 2; . . . ; J¡�  â®¦¬£� �¤« ©«¦ ®å� £� £¦¤«â¢¦ ANOVA ®à¨åª �¢¢�¢�§ �¨á©� ª ¡�«á �ç¦ §�¨á�¦¤«�ª � �©¬¤�®ã ���¦£â¤�.��£� é©«� æ«  â®¦¬£� (I � 1) + (J � 1) + 1 §�¨�£â«¨¦¬ª.



4.3 �®â©� £�«�¥ç £¦¤«â¢à¤ ¢¦� ©« ¡ãª §�¢ ¤�¨æ£�©�ª ¡� ¢¦��¨ �£ ¡á �¨�££ ¡á £¦¤«â¢�.ì�©«à æ«  â®¦¬£� � à¤¬£ ¡ã �§æ¡¨ ©� £� I �§å§��� ��à�ãª:����������� ��� ������1 n11 n12 n1+������� 2 n21 n22 n2+������ ... ... ... ...I nI1 nI2 nI+�¤ ¬§¦�â©¦¬£� æ«  � �¥ã®�� â¤� � à¤¬£ ¡æ §�å¨�£� � � ¡á�� �§å§��¦ ��à�ãª (��¢. «�ni+ �å¤�  «� ©«���¨á), «æ«� £§¦¨¦ç£� ¤� �¤�¢ç©¦¬£� «� ���¦£â¤� ®¨�© £¦§¦ é¤«�ª £¦¤«â¢�¢¦� ©« ¡ãª §�¢ ¤�¨æ£�©�ª. �� �¬«ã «�¤ ¦ ¡¦�â¤� � «à¤ £¦¤«â¢à¤, «¦ £¦¤«â¢¦ �¤�¥�¨«�©å�ª�å¤�«�  �§æ log  pi1� pi! = £; i = 1; . . . ; I:�¦ £¦¤«â¢¦ log pi1 � pi! = ( £ i = 1£+ �i i = 2; . . . ; I:(¡¦¨�©£â¤¦ £¦¤«â¢¦) ©¬¤�§á��«�  æ«  � § ��¤æ«�«� ��« ¡ãª �§æ¡¨ ©�ª �å¤�  � �­¦¨�« ¡ã ©�� �­¦¨�« ¡á �§å§��� ��à�ãª.�é¨� �ª ¬§¦�â©¦¬£� æ«  ¡�«á «�¤ � á¨¡� � £ �ª §¨¦¡��¦¨ ©£â¤�ª ®¨¦¤ ¡ãª §�¨ æ�¦¬ ©¬¢-¢â�¦¬£� ���¦£â¤� � � �§å§��� ��à�ãª. ��é «¦ ©ç¤¦¢¦ N++ �å¤�  «¬®�å� £�«��¢�«ã ¡� â®¦¬£� §�¨�«�¨ã©� ª ©� 2I «¬®�å�ª £�«��¢�«âª N11; N12; N21; N22; . . . ; NI1; NI2. �§¦¨¦ç£�¤� �¥�«á©¦¬£� ©®â©� ª ©«� ���¦£â¤� ®¨�© £¦§¦ é¤«�ª ¢¦��¨ �£ ¡á �¨�££ ¡á £¦¤«â¢�. ��à-¨�å©«� «� �§æ£�¤� £¦¤«â¢�, £� mij ¤� ©¬£�¦¢å��  «¦¤ £â©¦ «¦¬ (i; j)�©«¦ç ¡�¢ ¦ç:(1) M0 : logmij = £; i = 1; . . . ; I; j = 1; 2.�¬«æ «¦ £¦¤«â¢¦ ��à¨�å æ«  ¦ �¤�£�¤æ£�¤¦ª �¨ �£æª §�¨�«�¨ã©�à¤ ©� ¡á�� ¡�¢¢å �å¤�  ©«�-��¨æª (= e£). (2) M1 : logmij = ( £ i = 1 ; j = 1; 2£ + �i i = 2; . . . ; I ; j = 1; 2



�¬«æ «¦ £¦¤«â¢¦ �å¤�  ¡�«á¢¢�¢¦ �á¤ ¦ �¨ �£æª §�¨�«�¨ã©�à¤ §¦¬ �§¦¡¨å¤¦¤«�  ��« ¡á ¡� �¨¤�« ¡á �å¤�  ¦ å� ¦ª ©� ¡á�� �¨�££ã, �¢¢á � �­â¨�  � � � �­¦¨�« ¡âª �¨�££âª:e£ e£e£+�2 e£+�2... ...e£+�I e£+�I�¬«æ «¦ £¦¤«â¢¦ � �«�¨�å «¦ §�¨ �é¨ ¦ «à¤ �¨�££é¤.(3) M2 : logmij = ( £ i = 1; . . . ; I ; j = 1£ + �j i = 2; . . . ; I ; j = 2�¬«æ «¦ £¦¤«â¢¦ ©¬¤�§á��«�  æ«  � �¤�£�¤æ£�¤� « £ã � � ¡á�� �¨�££ã �å¤�  � å� � ©«�¤ ©«ã¢�1 ¡�  � �¤�£�¤æ£�¤� « £ã � � ¡á�� �¨�££ã �å¤�  � å� � ©«�¤ ©«ã¢� 2 :e£ e£+�2e£ e£+�2... ...e£ e£+�2�¬«æ «¦ £¦¤«â¢¦ � �«�¨�å «¦ §�¨ �é¨ ¦ «à¤ ©«�¢é¤.(4) M3 : �¦¤«â¢¦ �¤�¥�¨«�©å�ªlogmij = 8>>><>>>: £ i = 1 ; j = 1£+ �i i = 2; . . . ; I ; j = 1£+ �j i = 1 ; j = 2£+ �i + �j i = 2; . . . ; I ; j = 2:�¬«æ �å¤�  «¦ £¦¤«â¢¦ ©«¦ ¦§¦å¦ ¡�«�¢ã¥�£� ¤à¨å«�¨�:e£ e£+�2e£+�2 e£+�2+�2e£+�3 e£+�3+�2... ...e£+�I e£+�I+�2��é � �«�¨¦ç¤«�  ¡�  ¦  §�¨ �é¨ �ª �¨�££é¤ ¡�  ¦  §�¨ �é¨ �ª ©«�¢é¤.(5) M4: �¦¨�©£â¤¦ £¦¤«â¢¦logmij = 8>>><>>>: £ i = 1 ; j = 1£ + �i i = 2; . . . ; I ; j = 1£ + �j i = 1 ; j = 2£ + �i + �j + �ij i = 2; . . . ; I ; j = 2:æ§¦¬ �ij ��¢é¤�  «�¤ �¢¢�¢�§å�¨�©� £�«�¥ç �§æ¡¨ ©�ª ¡�  ��à�ãª.



4.4 �®æ¢ �(1)��é¨�£� 1: �¤Ni � p(mi); i = 1; . . . ; k ¡� N = [N1; . . . ; Nk]T ; m = [m1; . . . ;mk]T«æ«� N j N+ = n+ �Mk(n+; 1m+m)(2)��é¨�£� 2: �¤N �Mk(n;p) ¡� N1 = [N1; . . . ; Nr]T (r < k),N2 = [Nr+1; . . . ; Nk]T ,¡�  æ£¦ � ¦¨å©¦¬£� p1;p2;n1;n2; p1+; p2+; n1+; n2+; N1+; N2+ «æ«�(i) N1+ � B(n; p1+)(ii) N j �N1+ = n1+¡� N2+ = n2+) �Mr(n1+; p1p1+��Mk�r �n2+; p2p1+�(3) ��©£�¬£â¤� ©¬£§�¨�©£�«¦¢¦�å� : �¤ â¤�ª §å¤�¡�ª I � J �§¦¡« â«�  �§æ �� �£�-«¦¢�¯å� Poisson �¢¢á ��¤ �¤� �­�¨æ£�©«� � � «�¤ «¬®�å� £�«��¢�«ã N++, «æ«� � �¤á¢¬©�£§¦¨�å ¤� §¨¦®à¨ã©�  \��®æ£�¤¦  æ« " N++ ã«�¤ �¤à©«æ �§æ «�¤ �¨®ã æ«  �å¤�  n++. ��¢��ã,�§æ «¦ ��é¨�£� 1, â®¦¬£� æ« :Pr(N = n j N++ = n++) �MIJ (n++; 1m++m)�§å©�ª, �á¤ ��¤ �¤� �­�¨æ£�©«� � � « ª §�¨ �é¨ �ª «à¤ �¨�££é¤ Ni+, «æ«� £§¦¨¦ç£� ¤�§¨¦®à¨ã©¦¬£� \��®æ£�¤¦  æ« " Ni+ = ni+ ã«�¤ �¤à©«æ �§æ «�¤ �¨®ã. �¬¤�§éª, �§æ «���¤å¡�¬©� «¦¬ ��à¨ã£�«¦ª 2,Pr (N = n j N1+ = n1+; . . . ; NI+ = nI+) � IYi=1MJ  ni+; pipi+!��¢��ã â®¦¬£� ¡�«�¤¦£ã � ¤¦£â¤¦¬ §¦¢¬à¤¬£ ¡é¤.�� ¡å¤�«¨� � � «� §�¨�§á¤à ©®æ¢ � �å¤�  æ«  �­�¤æª £å� ¬§æ��©� £§¦¨�å ¤� �å¤�  �¬¡¦¢æ-«�¨¦ ¤� �¢��®��å ¡á«à �§æ â¤� § ¦ §�¨ ¦¨ ©£â¤¦ ©®ã£� �� �£�«¦¢�¯å�ª, �­�«â¨¦¬ «� £¦¤«â¢�«à¤ § ¦ §�¨ ¦¨ ©£â¤à¤ ©®�£á«à¤ �¨£�¤�ç¦¤«�  �¬¡¦¢æ«�¨� (§.®. «� \§¦¢¬à¤¬£ ¡á" pij �å¤� �¬¡¦¢æ«�¨� �§æ «� \Poisson" m+j).(4) �¦¢¬à¤¬£ ¡á ���¦£â¤� £� ¢¦��¨ �£ ¡á �¨�££ ¡á £¦¤«â¢�. �¤ â¤�ª §å¤�¡�ª ©¬¤á­� �ª§¨¦â¨®�«�  �§æ §¦¢¬à¤¬£ ¡ã �� �£�«¦¢�¯å�, £§¦¨�å ¤� �¤�¢¬��å £� ¢¦��¨ �£ ¡á �¨�££ ¡á £¦-¤«â¢� £� «�¤ §¨¦è§æ��©� æ«  ®¨�© £¦§¦ ¦ç£� £¦¤«â¢� §¦¬ � �«�¨¦ç¤ «¦ ¦¢ ¡æ ©ç¤¦¢¦. ��¨æ-£¦ ¦ �§¦«â¢�©£�  ©®ç�  ¡�  � � «¦ ©®ã£� �� �£�«¦¢�¯å�ª «¦¬ � ¤¦£â¤¦¬ «à¤ §¦¢¬à¤¬£ ¡é¤.
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